	Postgraduate Research 202	3/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRZHBSAFMDL	Accounting and Financial Management by Distance MPhil FT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4712	2 2356			19500	9750		
PPRZHBSAFMDL	Accounting and Financial Management by Distance MPhil PT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZHBSAFMDH	Accounting and Financial Management by Distance PhD (initial registration) FT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZHBSAFMDH	Accounting and Financial Management by Distance PhD (initial registration) PT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZHBSAFMDP	Accounting and Financial Management by Distance PhD FT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZHBSAFMDP	Accounting and Financial Management by Distance PhD PT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZHBSAFMHL	Accounting and Financial Management MPhil FT		PGR-BIS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZHBSAFMHL	Accounting and Financial Management MPhil PT		PGR-BIS	618	4717	2 2356	2356	1178	19500	9750	9750	4875
PFRZHBSAFMHP	Accounting and Financial Management PhD FT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4717	2 2356	2356	1178	19500	9750	9750	4875
PPRZHBSAFMHP	Accounting and Financial Management PhD PT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4717	2 2356	2356	1178	19500	9750	9750	4875
PFRZHBSAFMHH	Accounting and Financial Mgmnt PhD (init reg) FT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4717	2 2356	2356	1178	19500	9750	9750	4875
PPRZHBSAFMHH	Accounting and Financial Mgmnt PhD (init reg) PT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4717	2 2356	2356	1178	19500	9750	9750	4875
PFRZAPDFOOHL	Agri, Env and Food Economics MPhil FT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2356	2356	1178	19500	9750	9750	4875
PPRZAPDFOOHL	Agri, Env and Food Economics MPhil PT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZAPDFOOHH	Agri, Env and Food Economics PhD (init reg) FT		PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZAPDFOOHH	Agri, Env and Food Economics PhD (init reg) PT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZAPDFOOHP	Agri, Env and Food Economics PhD FT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZAPDFOOHP	Agri, Env and Food Economics PhD PT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRAEL	Agricultural and Food Economics MPhil	Agr and Food Econ; School of Agr, Policy and Dev	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRAEL	Agricultural and Food Economics MPhil PT	Agr and Food Econ; School of Agr, Policy and Dev	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRAEP	Agricultural and Food Economics PhD	Agr and Food Econ; School of Agr, Policy and Dev	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRAEH	Agricultural and Food Economics PhD (init reg)	Agr and Food Econ; School of Agr, Policy and Dev	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRAEP	Agricultural and Food Economics PhD PT	Agr and Food Econ; School of Agr. Policy and Dev	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875

	Postgraduate Research 2023	3/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRZAPDFOODL	Agricultural, Environmental and Food Economics by Distance MPhil FT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356			19500	9750		
PPRZAPDFOODL	Agricultural, Environmental and Food Economics by Distance MPhil PT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZAPDFOODH	Agricultural, Environmental and Food Economics by Distance PhD (initial registration) FT	School of Agriculture, Policy	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZAPDFOODH	Agricultural, Environmental and Food Economics by Distance PhD (initial registration) PT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZAPDFOODP	Agricultural, Environmental and Food Economics by Distance PhD FT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZAPDFOODP	Agricultural, Environmental and Food Economics by Distance PhD PT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZAPDAFEDP	Agriculture and Food Economics by Distance PhD PT	Agr and Food Econ; School of Agr, Policy and Dev	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRAGRL	Agriculture MPhil	Agriculture; School of Agr, Policy and Dev	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRAGRL	Agriculture MPhil PT	Agriculture; School of Agr, Policy and Dev	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRAGRP	Agriculture PhD	Agriculture; School of Agr, Policy and Dev	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRAGRP	Agriculture PhD PT	Agriculture; School of Agr, Policy and Dev	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZAPDDAIHL	Animal, Dairy and Food Chain Sci MPhil FT	School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZAPDDAIHL	Animal, Dairy and Food Chain Sci MPhil PT	School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZAPDDAIHH	Animal, Dairy and Food Chain Sci PhD (init reg)	School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZAPDDAIHH	Animal, Dairy and Food Chain Sci PhD (init reg)	School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZAPDDAIHP	Animal, Dairy and Food Chain Sci PhD FT	School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZAPDDAIHP	Animal, Dairy and Food Chain Sci PhD PT	School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZAPDDAIDL	Animal, Dairy and Food Chain Sciences by Distance MPhil FT	School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZAPDDAIDL	Animal, Dairy and Food Chain Sciences by Distance MPhil PT	School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZAPDDAIDH	Animal, Dairy and Food Chain Sciences by Distance PhD (initial registration) FT	School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZAPDDAIDH	Animal, Dairy and Food Chain Sciences by Distance PhD (initial registration) PT	School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZAPDDAIDP	Animal, Dairy and Food Chain Sciences by Distance PhD FT	School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZAPDDAIDP	Animal, Dairy and Food Chain Sciences by Distance PhD PT	School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZAPLTTTHH		English Language and Applied Linguistics; School of	PGT-LS-1		10500)			21350			
PFRZAPLTTTHP	Applied Linguistics (taught track & thesis) PhD	Literature and Languages English Language and Applied Linguistics; School of Literature and Languages	PGT-LS-1		10500	0			21350			
PPRZAPLTTTHP	Applied Linguistics (taught track & thesis) PhD PT	English Language and Applied Linguistics; School of Literature and Languages	PGR-MRES		4712	2						

	Postgraduate Research 2	023/24		Home Entrant	2023				Overseas 202	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRZLLELINDL	Applied Linguistics by Distance MPhil FT	English Language and Applied Linguistics; School of Literature and Languages	PGR-AL	618	4717	2 2356			19500	9750		
PPRZLLELINDL	Applied Linguistics by Distance MPhil PT	English Language and Applied Linguistics; School of Literature and Languages	PGR-AL	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZLLELINDH	Applied Linguistics by Distance PhD (initial registration) FT	English Language and Applied Linguistics; School of Literature and Languages	PGR-AL	618	4717	2 2356	2356	1178	19500	9750	9750	4875
PPRZLLELINDH	Applied Linguistics by Distance PhD (initial registration) PT	English Language and Applied Linguistics; School of Literature and Languages	PGR-AL	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZLLELINDP	Applied Linguistics by Distance PhD FT	English Language and Applied Linguistics; School of Literature and Languages	PGR-AL	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZLLELINDP	Applied Linguistics by Distance PhD PT	English Language and Applied Linguistics; School of Literature and Languages	PGR-AL	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRALL	Applied Linguistics MPhil	English Language and Applied Linguistics; School of Literature and Languages	PGR-AL	618	4717	2 2356	2356	1178	19500	9750	9750	4875
PPRALL	Applied Linguistics MPhil PT	English Language and Applied Linguistics; School of Literature and Languages	PGR-AL	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRALP	Applied Linguistics PhD	English Language and Applied Linguistics; School of Literature and Languages	PGR-AL	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRALH	Applied Linguistics PhD (init reg)	English Language and Applied Linguistics; School of Literature and Languages	PGR-AL	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRALH	Applied Linguistics PhD (init reg) PT	English Language and Applied Linguistics; School of Literature and Languages	PGR-AL	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRALP	Applied Linguistics PhD PT	English Language and Applied Linguistics; School of Literature and Languages	PGR-AL	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZMPSSTADL	Applied Statistics by Distance MPhil FT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZMPSSTADL	Applied Statistics by Distance MPhil PT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZMPSSTADH	Applied Statistics by Distance PhD (initial registration) FT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZMPSSTADH	Applied Statistics by Distance PhD (initial registration) PT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PFRZMPSSTADP	Applied Statistics by Distance PhD FT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500

	Postgraduate Research	ch 2023/24		Home Entrant	2023				Overseas 202	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRZMPSSTADP	Applied Statistics by Distance PhD PT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	4712	2 2356			22000	11000		
PFRASL	Applied Statistics MPhil	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-AS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRASL	Applied Statistics MPhil PT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-AS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRASP	Applied Statistics PhD	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-AS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRASH	Applied Statistics PhD (init reg)	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-AS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRASH	Applied Statistics PhD (init reg) PT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-AS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRASP	Applied Statistics PhD PT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-AS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZHESARCDL	Archaeology by Distance MPhil FT	Archaeology; School of Archaeology, Geography and Environmental Science	PGR-AR	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZHESARCDL	Archaeology by Distance MPhil PT	Archaeology; School of Archaeology, Geography and Environmental Science	PGR-AR	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZHESARCDH	Archaeology by Distance PhD (initial registration) FT	Archaeology; School of Archaeology, Geography and Environmental Science	PGR-AR	618								
PPRZHESARCDH	Archaeology by Distance PhD (initial registration) PT	Archaeology; School of Archaeology, Geography and Environmental Science	PGR-AR	618								
PFRZHESARCDP	Archaeology by Distance PhD FT	Archaeology; School of Archaeology, Geography and Environmental Science	PGR-AR	618								
PPRZHESARCDP	Archaeology by Distance PhD PT	Archaeology; School of Archaeology, Geography and Environmental Science	PGR-AR	618	4712	2 2356	5 2356	1178	19500	9750	9750	4875
PFRARL	Archaeology MPhil	Archaeology; School of Archaeology, Geography and Environmental Science	PGR-AR	618								
PPRARL	Archaeology MPhil PT	Archaeology; School of Archaeology, Geography and Environmental Science	PGR-AR	618								
PFRARP	Archaeology PhD	Archaeology; School of Archaeology, Geography and Environmental Science	PGR-AR	618								
PFRARH	Archaeology PhD (init reg)	Archaeology; School of Archaeology, Geography and Environmental Science	PGR-AR	618	4712	2 2356	2356	1178	19500	9750	9750	4875

	Postgraduate Research 20			Home Entrant					Overseas 2023			
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRARH	Archaeology PhD (init reg) PT	Archaeology; School of Archaeology, Geography and Environmental Science	PGR-AR	618	3 4712	2 2356			19500	9750		
PPRARP	Archaeology PhD PT	Archaeology; School of Archaeology, Geography and Environmental Science	PGR-AR	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZBENARCDL	Architecture by Distance MPhil FT	School of Architecture, School of Built Environment	PGR-ATC	618	4712	2 2356	5		22000	11000	11000	5500
PPRZBENARCDL	Architecture by Distance MPhil PT	School of Architecture, School of Built Environment	PGR-ATC	618	4712	2 2356	5		22000	11000	11000	5500
PFRZBENARCDH	Architecture by Distance PhD (initial registration) FT	School of Architecture, School of Built Environment	PGR-ATC	618	4712	2 2356	i i		22000	11000	11000	5500
PPRZBENARCDH	Architecture by Distance PhD (initial registration) PT	School of Architecture, School of Built Environment	PGR-ATC	618	4712	2 2356	5		22000	11000	11000	5500
PFRZBENARCDP	Architecture by Distance PhD FT	School of Architecture, School of Built Environment	PGR-ATC	618	4712	2 2356	5		22000	11000	11000	5500
PPRZBENARCDP	Architecture by Distance PhD PT	School of Architecture, School of Built Environment	PGR-ATC	618	4712	2 2356	5		22000	11000	11000	5500
PFRZBENARCHL	Architecture MPhil FT	School of Architecture, School of Built Environment	PGR-ATC	618	4712	2 2356	5		22000	11000	11000	5500
PPRZBENARCHL	Architecture MPhil PT	School of Architecture, School of Built Environment	PGR-ATC	618	4712	2 2356	5		22000	11000	11000	5500
PFRZBENARCHH	Architecture PhD (initial reg) FT	School of Architecture, School of Built Environment	PGR-ATC	618	4712	2 2356	5		22000	11000	11000	5500
PPRZBENARCHH	Architecture PhD (initial reg) PT	School of Architecture, School of Built Environment	PGR-ATC	618	4712	2 2356	5		22000	11000	11000	5500
PFRZBENARCHP	Architecture PhD FT	School of Built Environment School of Built Environment	PGR-ATC	618	4712	2 2356	5		22000	11000	11000	5500
PPRZBENARCHP	Architecture PhD PT	School of Architecture, School of Built Environment	PGR-ATC	618	4712	2 2356	5		22000	11000	11000	5500
PFRZAOCXXXDL	Atmosphere, Oceans and Climate by Distance MPhil FT	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZAOCXXXDL	Atmosphere, Oceans and Climate by Distance MPhil PT	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZAOCXXXDH	Atmosphere, Oceans and Climate by Distance PhD (initial registration) FT	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZAOCXXXDH	Atmosphere, Oceans and Climate by Distance PhD (initial registration) PT	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZAOCXXXDP	Atmosphere, Oceans and Climate by Distance PhD FT	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZAOCXXXDP	Atmosphere, Oceans and Climate by Distance PhD PT	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZAOCXXXHL	Atmosphere, Oceans and Climate MPhil	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZAOCXXXHL	Atmosphere, Oceans and Climate MPhil PT	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZAOCXXXHP	Atmosphere, Oceans and Climate PhD	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500

	Postgraduate Research 202	3/24		Home Entrant	2023				Overseas 202	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRZAOCXXXHH	Atmosphere, Oceans and Climate PhD (init reg)	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	471	2 2356			22000	11000		
PPRZAOCXXXHH	Atmosphere, Oceans and Climate PhD (init reg) PT	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	471	2 2356	2356	1178	22000	11000	11000	550
PPRZAOCXXXHP	Atmosphere, Oceans and Climate PhD PT	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	471	2 2356	2356	1178	22000	11000	11000	550
PFRZBIOSCIDL	Biological Sciences by Distance MPhil FT	School of Biological Sciences	PGR-BIO	618	471	2 2356	2356	1178	22000	11000	11000	550
PPRZBIOSCIDL	Biological Sciences by Distance MPhil PT	School of Biological Sciences	PGR-BIO	618	471	2 2356	2356	1178	22000	11000	11000	550
PFRZBIOSCIDH	Biological Sciences by Distance PhD (initial registration) FT	School of Biological Sciences	PGR-BIO	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZBIOSCIDH	Biological Sciences by Distance PhD (initial registration) PT	School of Biological Sciences	PGR-BIO	618								
PFRZBIOSCIDP	Biological Sciences by Distance PhD FT	School of Biological Sciences	PGR-BIO	618								
PPRZBIOSCIDP	Biological Sciences by Distance PhD PT	School of Biological Sciences		618								
PFRZBIOSCIHL	Biological Sciences MPhil	School of Biological Sciences	PGR-BIO	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZBIOSCIHL	Biological Sciences MPhil PT	School of Biological Sciences	PGR-BIO	618	471	2 2356	2356	1178	22000	11000	11000	550
PFRZBIOSCIHP	Biological Sciences PhD	School of Biological Sciences	PGR-BIO	618	471	2 2356	2356	1178	22000	11000	11000	550
PFRZBIOSCIHH	Biological Sciences PhD (init reg)	School of Biological Sciences	PGR-BIO	618	471	2 2356	2356	1178	22000	11000	11000	550
PPRZBIOSCIHH	Biological Sciences PhD (init reg) PT	School of Biological Sciences	PGR-BIO	618	471	2 2356	2356	1178	22000	11000	11000	550
PPRZBIOSCIHP	Biological Sciences PhD PT	School of Biological Sciences	PGR-BIO	618	471	2 2356	2356	1178	22000	11000	11000	550
PFRZBIOMEDDL	Biomedical Engineering by Distance MPhil FT	Department of Bio- Engineering; School of Biological Sciences	PGR-BIOMED	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZBIOMEDDL	Biomedical Engineering by Distance MPhil PT	Department of Bio- Engineering; School of Biological Sciences	PGR-BIOMED	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZBIOMEDDH	Biomedical Engineering by Distance PhD (initial registration) FT		PGR-BIOMED	618	471	2 2356	2356	1178	22000	11000	11000	550
PPRZBIOMEDDH	Biomedical Engineering by Distance PhD (initial registration) PT		PGR-BIOMED	618	471	2 2356	2356	1178	22000	11000	11000	550
PFRZBIOMEDDP	Biomedical Engineering by Distance PhD FT	Department of Bio- Engineering; School of Biological Sciences	PGR-BIOMED	618	471	2 2356	2356	1178	22000	11000	11000	550
PPRZBIOMEDDP	Biomedical Engineering by Distance PhD PT	Department of Bio- Engineering; School of Biological Sciences	PGR-BIOMED	618	471	2 2356	2356	1178	22000	11000	11000	550
PFRZBIOMEDHL	Biomedical Engineering MPhil FT	Department of Bio- Engineering; School of Biological Sciences	PGR-BIOMED	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZBIOMEDHL	Biomedical Engineering MPhil PT	Department of Bio- Engineering; School of Biological Sciences	PGR-BIOMED	618	471	2 2356	2356	1178	22000	11000	11000	550
PFRZBIOMEDHH	Biomedical Engineering PhD (init reg) FT	Department of Bio- Engineering; School of Biological Sciences	PGR-BIOMED	618	471	2 2356	2356	1178	22000	11000	11000	550
PPRZBIOMEDHH	Biomedical Engineering PhD (init reg) PT	Department of Bio- Engineering; School of Biological Sciences	PGR-BIOMED	618	471	2 2356	2356	1178	22000	11000	11000	550
PFRZBIOMEDHP	Biomedical Engineering PhD FT	Department of Bio- Engineering; School of Biological Sciences	PGR-BIOMED	618	471	2 2356	2356	1178	22000	11000	11000	5500

	Postgraduate Research 202	3/24		Home Entrant	2023				Overseas 202	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRZBIOMEDHP	Biomedical Engineering PhD PT	Department of Bio- Engineering; School of Biological Sciences	PGR-BIOMED	618	471	2 2356			3 22000	11000		
PFRZBMEDSCDL	Biomedical Sciences by Distance MPhil FT	School of Biological Sciences	PGR-BIO	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZBMEDSCDL	Biomedical Sciences by Distance MPhil PT	School of Biological Sciences	PGR-BIO	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZBMEDSCDH	Biomedical Sciences by Distance PhD (initial registration) FT	School of Biological Sciences	PGR-BIO	618								
PPRZBMEDSCDH	Biomedical Sciences by Distance PhD (initial registration) PT	School of Biological Sciences	PGR-BIO	618								
PFRZBMEDSCDP	Biomedical Sciences by Distance PhD FT	School of Biological Sciences		618								
PPRZBMEDSCDP	Biomedical Sciences by Distance PhD PT	School of Biological Sciences	PGR-BIO	618								
PFRZBMEDSCHL	Biomedical Sciences MPhil FT	School of Biological Sciences		618								
PPRZBMEDSCHL	Biomedical Sciences MPhil PT	School of Biological Sciences	PGR-BIO	618								
PFRZBMEDSCHH	Biomedical Sciences PhD (init reg) FT	School of Biological Sciences	PGR-BIO	618								
PPRZBMEDSCHH	Biomedical Sciences PhD (init reg) PT	School of Biological Sciences	PGR-BIO	618								
PFRZBMEDSCHP	Biomedical Sciences PhD FT	School of Biological Sciences	PGR-BIO	618								
PPRZBMEDSCHP	Biomedical Sciences PhD PT	School of Biological Sciences	PGR-BIO	618						11000	11000	
PPRZHBSBISHL	Bus Informatics, Systems and Acc MPhil PTBIS MPHIL	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZHBSBISHP	Bus Informatics, Systems and Acc PhD PT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZCHEMISDL	Chemistry by Distance MPhil FT	Chemistry; School of Chemistry, Food and Pharmacy	PGR-CHEM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZCHEMISDL	Chemistry by Distance MPhil PT	Chemistry; School of Chemistry, Food and	PGR-CHEM	618	471	2 2356	2356	1178	3 22000	11000	11000	5500
PFRZCHEMISDH	Chemistry by Distance PhD (initial registration) FT	Pharmacv Chemistry; School of Chemistry, Food and	PGR-CHEM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZCHEMISDH	Chemistry by Distance PhD (initial registration) PT	Pharmacv Chemistry; School of Chemistry, Food and Pharmacv	PGR-CHEM	618	471	2 2356	2356	1178	3 22000	11000	11000	5500
PFRZCHEMISDP	Chemistry by Distance PhD FT	Chemistry; School of Chemistry, Food and Pharmacy	PGR-CHEM	618	471	2 2356	2356	1178	3 22000	11000	11000	5500
PPRZCHEMISDP	Chemistry by Distance PhD PT	Chemistry; School of Chemistry, Food and Pharmacy	PGR-CHEM	618	471	2 2356	2356	1178	3 22000	11000	11000	5500
PFRZCHEMISHL	Chemistry MPhil	Chemistry; School of Chemistry, Food and Pharmacy	PGR-CHEM	618	471	2 2356	2356	1178	3 22000	11000	11000	5500
PPRZCHEMISHL	Chemistry MPhil PT	Chemistry; School of Chemistry, Food and Pharmacy	PGR-CHEM	618	471	2 2356	2356	1178	3 22000	11000	11000	5500
PFRZCHEMISHP	Chemistry PhD	Chemistry; School of Chemistry, Food and Pharmacy	PGR-CHEM	618	471	2 2356	2356	1178	3 22000	11000	11000	5500
PFRZCHEMISHH	Chemistry PhD (init reg)	Chemistry; School of Chemistry, Food and Pharmacy	PGR-CHEM	618	471	2 2356	2356	1178	3 22000	11000	11000	5500
PPRZCHEMISHH	Chemistry PhD (init reg) PT	Chemistry; School of Chemistry, Food and Pharmacy	PGR-CHEM	618	471	2 2356	2356	1178	22000	11000	11000	5500

	Postgraduate Research 2023	3/24		Home Entrant	2023				Overseas 202	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRZCHEMISHP	Chemistry PhD PT	Chemistry; School of Chemistry, Food and Pharmacy	PGR-CHEM	618	4712	2 2356			3 22000	11000		
PFRZHUMCLSDL	Classics by Distance MPhil FT	Classics; School of Humanities	PGR-CLASS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZHUMCLSDL	Classics by Distance MPhil PT	Classics; School of Humanities	PGR-CLASS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZHUMCLSDH	Classics by Distance PhD (initial registration) FT	Classics; School of Humanities	PGR-CLASS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZHUMCLSDH	Classics by Distance PhD (initial registration) PT	Classics; School of Humanities	PGR-CLASS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZHUMCLSDP	Classics by Distance PhD FT	Classics; School of Humanities	PGR-CLASS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZHUMCLSDP	Classics by Distance PhD PT	Classics; School of Humanities	PGR-CLASS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZCLSSICHL	Classics MPhil	Classics; School of Humanities	PGR-CLASS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZCLSSICHL	Classics MPhil PT	Classics; School of Humanities	PGR-CLASS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZCLSSICHP	Classics PhD	Classics; School of Humanities	PGR-CLASS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZCLSSICHH	Classics PhD (init reg)	Classics; School of Humanities	PGR-CLASS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZCLSSICHH	Classics PhD (init reg) PT	Classics; School of Humanities	PGR-CLASS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZCLSSICHP	Classics PhD PT	Classics; School of Humanities	PGR-CLASS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZCLINLSDL	Clinical Language Sciences by Distance MPhil FT	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZCLINLSDL	Clinical Language Sciences by Distance MPhil PT		PGR-CLINLS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZCLINLSDH	Clinical Language Sciences by Distance PhD (initial registration) FT	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZCLINLSDH	Clinical Language Sciences by Distance PhD (initial registration) PT	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZCLINLSDP	Clinical Language Sciences by Distance PhD FT	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZCLINLSDP	Clinical Language Sciences by Distance PhD PT	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZCLINLSHL	Clinical Language Sciences MPhil	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZCLINLSHL	Clinical Language Sciences MPhil PT	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZCLINLSHP	Clinical Language Sciences PhD	Clinical Language Sciences;	PGR-CLINLS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZCLINLSHH	Clinical Language Sciences PhD (init reg)	Sch of Psych and CLS Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZCLINLSHH	Clinical Language Sciences PhD (init reg) PT	Clinical Language Sciences;	PGR-CLINLS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZCLINLSHP	Clinical Language Sciences PhD PT	Sch of Psych and CLS Clinical Language Sciences;	PGR-CLINLS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZLCLCISHL	Comparative & I'cultural St MPhil FT	Sch of Psych and CLS Languages and Cultures; School of Literature and Languages	PGR-LCL	618	4717	2 2356	2356	1178	19500	9750	9750	4875
PPRZLCLCISHL	Comparative & I'cultural St MPhil PT	Languages and Cultures; School of Literature and Languages	PGR-LCL	618	4712	2 2356	2356	1178	19500	9750	9750	4875

	Postgraduate Research 20	23/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRZLCLCISHH	Comparative & I'cultural St PhD (init reg) FT	Languages and Cultures; School of Literature and Languages	PGR-LCL	618	471	2 2356			19500	9750		
PPRZLCLCISHH	Comparative & I'cultural St PhD (init reg) PT	Languages and Cultures; School of Literature and Languages	PGR-LCL	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZLCLCISHP	Comparative & I'cultural St PhD FT	Languages and Cultures; School of Literature and Languages	PGR-LCL	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZLCLCISHP	Comparative & I'cultural St PhD PT	Languages and Cultures; School of Literature and Languages	PGR-LCL	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZLCLCISDL	Comparative and Intercultural Studies by Distance MPhil FT	Languages and Cultures; School of Literature and Languages	PGR-LCL	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZLCLCISDL	Comparative and Intercultural Studies by Distance MPhil PT	Languages and Cultures; School of Literature and Languages	PGR-LCL	618	471	2 2356	2356	1178	19500	9750	9750	487
PFRZLCLCISDH	Comparative and Intercultural Studies by Distance PhD (initial registration) FT	Languages and Cultures; School of Literature and Languages	PGR-LCL	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZLCLCISDH	Comparative and Intercultural Studies by Distance PhD (initial registration) PT	Languages and Cultures; School of Literature and Languages	PGR-LCL	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZLCLCISDP	Comparative and Intercultural Studies by Distance PhD FT	Languages and Cultures; School of Literature and Languages	PGR-LCL	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZLCLCISDP	Comparative and Intercultural Studies by Distance PhD PT	Languages and Cultures; School of Literature and Languages	PGR-LCL	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZCOMPSCDL	Computer Science by Distance MPhil FT	Computer Science; School of Mathematical, Physical and Computational Sciences	PGR-COMPSC	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZCOMPSCDL	Computer Science by Distance MPhil PT	Computer Science; School of Mathematical, Physical and Computational Sciences	PGR-COMPSC	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZCOMPSCDH	Computer Science by Distance PhD (initial registration) FT	Computer Science; School of Mathematical, Physical and Computational Sciences	PGR-COMPSC	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZCOMPSCDH	Computer Science by Distance PhD (initial registration) PT	Computer Science; School of Mathematical, Physical and Computational Sciences	PGR-COMPSC	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZCOMPSCDP	Computer Science by Distance PhD FT	Computer Science; School of Mathematical, Physical and Computational Sciences	PGR-COMPSC	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZCOMPSCDP	Computer Science by Distance PhD PT	Computer Science; School of Mathematical, Physical and Computational Sciences	PGR-COMPSC	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZCOMPSCHL	Computer Science MPhil	Computer Science; School of Mathematical, Physical and Computational Sciences	PGR-COMPSC	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZCOMPSCHL	Computer Science MPhil PT	Computer Science; School of Mathematical, Physical and Computational Sciences	PGR-COMPSC	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZCOMPSCHP	Computer Science PhD	Computer Science; School of Mathematical, Physical and Computational Sciences	PGR-COMPSC	618	471	2 2356	2356	1178	22000	11000	11000	5500

	Postgraduate Research 202	3/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRZCOMPSCHH	Computer Science PhD (init reg)	Computer Science; School of Mathematical, Physical and Computational Sciences	PGR-COMPSC	618	3 471	2 2356			3 22000	11000		
PPRZCOMPSCHH	Computer Science PhD (init reg) PT	Computer Science; School of Mathematical, Physical and Computational Sciences	PGR-COMPSC	618	3 4717	2 2356	5 2356	5 1178	3 22000	11000	11000	5500
PPRZCOMPSCHP	Computer Science PhD PT	Computer Science; School of Mathematical, Physical and Computational Sciences	PGR-COMPSC	618	471	2 2356	2356	5 1178	3 22000	11000	11000	5500
PPRZCONMGEHL	Construction Management & Engineering MPhil PT	School of Construction Management and Engineering, School of Built Environment	PGR-CME	618	3 471	2 2356	2356	5 1178	3 22000	11000	11000	5500
PPRZCONMGEHP	Construction Management & Engineering PhD PT	School of Construction Management and Engineering, School of Built Environment	PGR-CME	618	3 471	2 2356	2356	5 1178	22000	11000	11000	5500
PFRZBENCONDL	Construction Management by Distance MPhil FT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	3 471	2 2356	5 2356	5 1178	22000	11000	11000	5500
PPRZBENCONDL	Construction Management by Distance MPhil PT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	3 471	2 2356	5 2356	5 1178	22000	11000	11000	5500
PFRZBENCONDH	Construction Management by Distance PhD (initial registration) FT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	3 471	2 2356	2356	5 1178	22000	11000	11000	5500
PPRZBENCONDH	Construction Management by Distance PhD (initial registration) PT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	3 471	2 2356	2356	5 1178	22000	11000	11000	5500
PFRZBENCONDP	Construction Management by Distance PhD FT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	471	2 2356	2356	5 1178	22000	11000	11000	5500
PPRZBENCONDP	Construction Management by Distance PhD PT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	3 471	2 2356	2356	5 1178	3 22000	11000	11000	5500
PFRZBENCONHL	Construction Management MPhil FT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	3 471	2 2356	5 2356	5 1178	3 22000	11000	11000	5500
PPRZBENCONHL	Construction Management MPhil PT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	3 471	2 2356	2356	5 1178	3 22000	11000	11000	5500
PFRZBENCONHH	Construction Management PhD (initial reg) FT	School of Construction Management and Engineering, School of Built	PGR-BEN	618	3 471	2 2356	2356	5 1178	3 22000	11000	11000	5500
PPRZBENCONHH	Construction Management PhD (initial reg) PT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	3 471.	2 2356	5 2356	5 1178	3 22000	11000	11000	5500

	Postgraduate Research 202	23/24		Home Entrant	2023				Overseas 202	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRZBENCONHP	Construction Management PhD FT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	4712	2 2356			3 22000	11000		
PPRZBENCONHP	Construction Management PhD PT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PFRZAPDCONHL	Consumer Behaviour & Fd Mrktg MPhil FT	School of Agriculture, Policy and Development	PGR-AE	618								
PPRZAPDCONHL	Consumer Behaviour & Fd Mrktg MPhil PT	School of Agriculture, Policy and Development	PGR-AE	618								
PFRZAPDCONHH	Consumer Behaviour & Fd Mrktg PhD (init reg) FT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZAPDCONHH	Consumer Behaviour & Fd Mrktg PhD (init reg) PT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZAPDCONHP	Consumer Behaviour & Fd Mrktg PhD FT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZAPDCONHP	Consumer Behaviour & Fd Mrktg PhD PT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZAPDCONDL	Consumer Behaviour and Food Marketing by Distance MPhil FT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZAPDCONDL	Consumer Behaviour and Food Marketing by Distance MPhil PT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZAPDCONDH	Consumer Behaviour and Food Marketing by Distance PhD (initial registration) FT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZAPDCONDH	Consumer Behaviour and Food Marketing by Distance PhD (initial registration) PT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZAPDCONDP	Consumer Behaviour and Food Marketing by Distance PhD FT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZAPDCONDP	Consumer Behaviour and Food Marketing by Distance PhD PT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZAPDCRODL	Crop Sciences by Distance MPhil FT	School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZAPDCRODL	Crop Sciences by Distance MPhil PT	School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZAPDCRODH	Crop Sciences by Distance PhD (initial	School of Agriculture, Policy	PGR-AG	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PPRZAPDCRODH	registration) FT Crop Sciences by Distance PhD (initial	School of Agriculture, Policy	PGR-AG	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PFRZAPDCRODP	registration) PT Crop Sciences by Distance PhD FT	and Development School of Agriculture, Policy	PGR-AG	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PPRZAPDCRODP	Crop Sciences by Distance PhD PT	and Development School of Agriculture, Policy	PGR-AG	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PFRZAPDCROHL	Crop Sciences MPhil (init reg) FT	and Development School of Agriculture, Policy	PGR-AG	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PPRZAPDCROHL	Crop Sciences MPhil PT	and Development School of Agriculture, Policy	PGR-AG	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PFRZAPDCROHH	Crop Sciences PhD (init reg) FT	and Development School of Agriculture, Policy	PGR-AG	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PFRZAPDCROHP	Crop Sciences PhD (init reg) FT	and Development School of Agriculture, Policy	PGR-AG	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PPRZAPDCROHH	Crop Sciences PhD (init reg) PT	and Development School of Agriculture, Policy	PGR-AG	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PPRZAPDCROHP	Crop Sciences PhD PT	and Development School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356	5 2356	1178	3 22000	11000	11000	5500

	Postgraduate Research 20	23/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRZCYBBIODL	Cybernetics by Distance MPhil FT	Department of Bio- Engineering; School of Biological Sciences	PGR-BIO	618	471	2 2356			22000	11000		
PPRZCYBBIODL	Cybernetics by Distance MPhil PT	Department of Bio- Engineering; School of Biological Sciences	PGR-BIO	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZCYBBIODH	Cybernetics by Distance PhD (initial registration) FT	Department of Bio- Engineering; School of Biological Sciences	PGR-BIO	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZCYBBIODH	Cybernetics by Distance PhD (initial registration) PT	Department of Bio- Engineering; School of Biological Sciences	PGR-BIO	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZCYBBIODP	Cybernetics by Distance PhD FT	Department of Bio- Engineering; School of Biological Sciences	PGR-BIO	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZCYBBIODP	Cybernetics by Distance PhD PT	Department of Bio- Engineering; School of Biological Sciences	PGR-BIO	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZCYBERNHL	Cybernetics MPhil	School of Systems Engineering	PGR-CYB	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZCYBBIOHL	Cybernetics MPhil (full-time)	Department of Bio- Engineering; School of Biological Sciences	PGR-CYB	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZCYBBIOHL	Cybernetics MPhil (part-time)	Department of Bio- Engineering; School of Biological Sciences	PGR-CYB	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZCYBERNHP	Cybernetics PhD	School of Systems Engineering	PGR-CYB	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZCYBBIOHP	Cybernetics PhD (full-time)	Department of Bio- Engineering; School of Biological Sciences	PGR-CYB	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZCYBBIOHH	Cybernetics PhD (init reg) (full-time)	Department of Bio- Engineering; School of Biological Sciences	PGR-CYB	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZCYBBIOHH	Cybernetics PhD (init reg) (part-time)	Department of Bio- Engineering; School of Biological Sciences	PGR-CYB	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZCYBBIOHP	Cybernetics PhD (part-time)	Department of Bio- Engineering; School of Biological Sciences	PGR-CYB	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZAPDECOHH	Ecology and Agri-Env Res PhD (init reg) FT	School of Agriculture, Policy and Development	PGR-AG	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZAPDECOHH	Ecology and Agri-Env Res PhD (init reg) PT	School of Agriculture, Policy and Development	PGR-AG	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZAPDECOHL	Ecology and Agri-Env Research MPhil FT	School of Agriculture, Policy and Development	PGR-AG	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZAPDECOHL	Ecology and Agri-Env Research MPhil PT	School of Agriculture, Policy and Development	PGR-AG	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZAPDECOHP	Ecology and Agri-Env Research PhD FT	School of Agriculture, Policy and Development	PGR-AG	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZAPDECOHP	Ecology and Agri-Env Research PhD PT	School of Agriculture, Policy and Development	PGR-AG	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZAPDECODL	Ecology and Agri-Environmental Research by Distance MPhil FT	School of Agriculture, Policy and Development	PGR-AG	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZAPDECODL	Ecology and Agri-Environmental Research by Distance MPhil PT	School of Agriculture, Policy and Development	PGR-AG	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZAPDECODH	Ecology and Agri-Environmental Research by Distance PhD (initial registration) FT	School of Agriculture, Policy and Development	PGR-AG	618	471	2 2356	2356	1178	22000	11000	11000	5500

	Postgraduate Research 2023	3/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRZAPDECODH	Ecology and Agri-Environmental Research by Distance PhD (initial registration) PT	School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356			22000	11000		
PFRZAPDECODP	Ecology and Agri-Environmental Research by Distance PhD FT	School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZAPDECODP	Ecology and Agri-Environmental Research by Distance PhD PT	School of Agriculture, Policy and Development	PGR-AG	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZBIOEEBDL	Ecology and Evolutionary Biology by Distance MPhil FLD	School of Biological Sciences	PGR-BIO	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZBIOEEBDL	Ecology and Evolutionary Biology by Distance MPhil PLD	School of Biological Sciences	PGR-BIO	618	4712	2 2356	2356	1178	22000	11000	11000	550
PFRZBIOEEBDH	Ecology and Evolutionary Biology by Distance PhD (Initial registration) FLD	School of Biological Sciences	PGR-BIO	618	4712	2 2356	2356	1178	22000	11000	11000	550
PPRZBIOEEBDH	Ecology and Evolutionary Biology by Distance PhD (Initial registration) PLD	School of Biological Sciences	PGR-BIO	618	4712	2 2356	2356	1178	22000	11000	11000	550
PFRZBIOEEBDP	Ecology and Evolutionary Biology by Distance PhD FLD	School of Biological Sciences	PGR-BIO	618	4712	2 2356	2356	1178	22000	11000	11000	550
PPRZBIOEEBDP	Ecology and Evolutionary Biology by Distance PhD PLD	School of Biological Sciences	PGR-BIO	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZBIOEEBHL	Ecology and Evolutionary Biology MPhil FL	School of Biological Sciences	PGR-BIO	618	4712	2356	2356	1178	22000	11000	11000	5500
PPRZBIOEEBHL	Ecology and Evolutionary Biology MPhil PL	School of Biological Sciences	PGR-BIO	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZBIOEEBHH	Ecology and Evolutionary Biology PhD (initial registration) FL	School of Biological Sciences	PGR-BIO	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZBIOEEBHH	Ecology and Evolutionary Biology PhD (initial registration) PL	School of Biological Sciences	PGR-BIO	618	4712	2 2356	2356	1178	22000	11000	11000	550
PFRZBIOEEBHP	Ecology and Evolutionary Biology PhD FL	School of Biological Sciences	PGR-BIO	618	4712	2356	2356	1178	22000	11000	11000	550
PPRZBIOEEBHP	Ecology and Evolutionary Biology PhD PL	School of Biological Sciences	PGR-BIO	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZPEICEHDL	Economic History by Distance MPhil FT	Centre for Economic History	PGR-CEH		4712	2 2356	2356	1178	19500	9750	9750	487
PPRZPEICEHDL	Economic History by Distance MPhil PT	Centre for Economic History	PGR-CEH		4712	2 2356	2356	1178	19500	9750	9750	487
PFRZPEICEHDH	Economic History by Distance PhD (initial registration) FT	Centre for Economic History	PGR-CEH		4712	2 2356	2356	1178	19500	9750	9750	487
PPRZPEICEHDH	Economic History by Distance PhD (initial registration) PT	Centre for Economic History	PGR-CEH		4712	2 2356	2356	1178	19500	9750	9750	487
PFRZPEICEHDP	Economic History by Distance PhD FT	Centre for Economic History	PGR-CEH		4712	2356	2356	1178	19500	9750	9750	487
PPRZPEICEHDP	Economic History by Distance PhD PT	Centre for Economic History	PGR-CEH		4712	2356	2356	1178	19500	9750	9750	487
PFRZFASCEHHL	Economic History MPhil	Centre for Economic History	PGR-CEH		4712	2 2356	2356	1178	19500	9750	9750	487
PPRZFASCEHHL	Economic History MPhil PT	Centre for Economic History	PGR-CEH		4712		2356	1178	19500	9750	9750	487
PFRZFASCEHHP	Economic History PhD	Centre for Economic History	PGR-CEH		4712		2356	1178	19500	9750	9750	487
PFRZFASCEHHH	Economic History PhD (initial registration)	Centre for Economic History	PGR-CEH		4712		2356	1178	19500	9750	9750	487
PPRZFASCEHHH	Economic History PhD (initial registration) PT	Centre for Economic History	PGR-CEH		4712	2 2356	2356	1178	19500	9750	9750	487
PPRZFASCEHHP	Economic History PhD PT	Centre for Economic History	PGR-CEH		4712	2 2356	2356	1178	19500	9750	9750	487
PFRZPEIECODL	Economics by Distance MPhil FT	School of Politics, Economics and International Relations	PGR-EB	618			2356	1178				487
PPRZPEIECODL	Economics by Distance MPhil PT	School of Politics, Economics and International Relations	PGR-EB	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZPEIECODH	Economics by Distance PhD (initial registation) PT	School of Politics, Economics and International Relations	PGR-EB	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZPEIECODH	Economics by Distance PhD (initial registration) FT	School of Politics, Economics and International Relations	PGR-EB	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZPEIECODP	Economics by Distance PhD FT	School of Politics, Economics and International Relations	PGR-EB	618	4712	2 2356	2356	1178	19500	9750	9750	487

	Postgraduate Research 202	3/24		Home Entrant	2023				Overseas 202	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRZPEIECODP	Economics by Distance PhD PT	School of Politics, Economics and International Relations	PGR-EB	618	471	2 2356	2356		19500	9750		
PFREBL	Economics MPhil	School of Politics, Economics and International Relations	PGR-EB	618	471	2 2356	2356	1178	19500	9750	9750	487
PPREBL	Economics MPhil PT	School of Politics, Economics and International Relations	PGR-EB	618	471	2 2356	2356	1178	19500	9750	9750	487
PFREBP	Economics PhD	School of Politics, Economics and International Relations	PGR-EB	618	471	2 2356	2356	1178	19500	9750	9750	487
PFREBH	Economics PhD (init reg)	School of Politics, Economics and International Relations	PGR-EB	618	471	2 2356	2356	1178	19500	9750	9750	487
PPREBH	Economics PhD (init reg) PT	School of Politics, Economics and International Relations	PGR-EB	618	471	2 2356	2356	1178	19500	9750	9750	487
PPREBP	Economics PhD PT	School of Politics, Economics and International Relations	PGR-EB	618	471	2 2356	2356	1178	19500	9750	9750	487
PFRZIEDEDUDL	Education by Distance MPhil FT	Institute of Education	PGR-ED	618	471	2 2356	2356	1178	19500	9750	9750	487
PPRZIEDEDUDL	Education by Distance MPhil PT	Institute of Education	PGR-ED	618								
PFRZIEDEDUDH	Education by Distance PhD (initial registration) FT	Institute of Education	PGR-ED	618			2356	1178	19500			
PPRZIEDEDUDH	PT	Institute of Education	PGR-ED	618								
PFRZIEDEDUDP	Education by Distance PhD FT	Institute of Education	PGR-ED	618								
PPRZIEDEDUDP	Education by Distance PhD PT	Institute of Education	PGR-ED	618								
PFREDL	Education MPhil	Institute of Education	PGR-ED	618								
PPREDL	Education MPhil PT	Institute of Education	PGR-ED	618								
PFREDP	Education PhD	Institute of Education	PGR-ED	618								
PFREDH	Education PhD (init reg)	Institute of Education	PGR-ED	618								
PPREDH	Education PhD (init reg) PT	Institute of Education	PGR-ED	618								
PPREDP	Education PhD PT	Institute of Education	PGR-ED	618								
PFRELENGL	Electronic Engineering MPhil	Department of Bio- Engineering; School of Biological Sciences	PGR-ELENG	618	471	2 2356	3 2356	1178	3 22000	11000	11000	550
PPRELENGL	Electronic Engineering MPhil PT	Department of Bio- Engineering; School of Biological Sciences	PGR-CYB	618	471	2 2356	2356	1178	22000	11000	11000	550
PFRELENGP	Electronic Engineering PhD	Department of Bio- Engineering; School of Biological Sciences	PGR-ELENG	618	471	2 2356	2356	1178	22000	11000	11000	550
PFRELENGH	Electronic Engineering PhD (init reg)	Department of Bio- Engineering; School of Biological Sciences	PGR-ELENG	618	471	2 2356	2356	1178	22000	11000	11000	550
PPRELENGH	Electronic Engineering PhD (init reg) PT	Department of Bio- Engineering; School of Biological Sciences	PGR-CYB	618	471	2 2356	2356	1178	22000	11000	11000	550
PFRZBENENGHH	Energy and Environ Engineering PhD (init reg) FT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	471.	2 2356	2356	1178	22000	11000	11000	550

	Postgraduate Research 2023	3/24		Home Entrant	2023				Overseas 202	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRZBENENGHH	Energy and Environ Engineering PhD (init reg) PT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	4712	2 2356			22000	11000		
PFRZBENENGDL	Energy and Environmental Engineering by Distance MPhil FT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZBENENGDL	Energy and Environmental Engineering by Distance MPhil PT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZBENENGDH	Energy and Environmental Engineering by Distance PhD (initial registration) FT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZBENENGDH	Energy and Environmental Engineering by Distance PhD (initial registration) PT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZBENENGDP	Energy and Environmental Engineering by Distance PhD FT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZBENENGDP	Energy and Environmental Engineering by Distance PhD PT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZBENENGHL	Energy and Environmental Engineering MPhil FT		PGR-BEN	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZBENENGHL	Energy and Environmental Engineering MPhil PT		PGR-BEN	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZBENENGHP	Energy and Environmental Engineering PhD FT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZBENENGHP	Energy and Environmental Engineering PhD PT	School of Construction Management and Engineering, School of Built Environment	PGR-BEN	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZENGLITDL	English Literature by Distance MPhil FT	English Literature; School of Literature and Languages	PGR-ENGLIT	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZENGLITDL	English Literature by Distance MPhil PT	English Literature; School of Literature and Languages	PGR-ENGLIT	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZENGLITDH	English Literature by Distance PhD (initial registration) FT	English Literature; School of Literature and Languages	PGR-ENGLIT	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZENGLITDH	English Literature by Distance PhD (initial registration) PT	English Literature; School of Literature and Languages	PGR-ENGLIT	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZENGLITDP	English Literature by Distance PhD FT	English Literature; School of Literature and Languages	PGR-ENGLIT	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZENGLITDP	English Literature by Distance PhD PT	English Literature; School of Literature and Languages	PGR-ENGLIT	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZENGLITHL	English Literature MPhil	English Literature; School of Literature and Languages	PGR-ENGLIT	618	4712	2 2356	2356	1178	19500	9750	9750	4875

	Postgraduate Research 202	3/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRZENGLITHL	English Literature MPhil PT	English Literature; School of Literature and Languages	PGR-ENGLIT	618	4712	2 2356			19500	9750		
PFRZENGLITHP	English Literature PhD	English Literature; School of Literature and Languages	PGR-ENGLIT	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZENGLITHH	English Literature PhD (initial registration)	English Literature; School of Literature and Languages	PGR-ENGLIT	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZENGLITHH	English Literature PhD (initial registration) PT	English Literature; School of Literature and Languages	PGR-ENGLIT	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZENGLITHP	English Literature PhD PT	English Literature; School of Literature and Languages	PGR-ENGLIT	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZENVSCIDL	Environmental Science by Distance MPhil FT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ENVSC	618	3 4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZENVSCIDL	Environmental Science by Distance MPhil PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ENVSC	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZENVSCIDH	Environmental Science by Distance PhD (initial registration) FT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ENVSC	618	3 4712	2 2356	2356	1178	3 22000	11000	11000	5500
PPRZENVSCIDH	Environmental Science by Distance PhD (initial registration) PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ENVSC	618	3 4712	2 2356	2356	1178	3 22000	11000	11000	5500
PFRZENVSCIDP	Environmental Science by Distance PhD FT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ENVSC	618	3 4712	2 2356	2356	1178	3 22000	11000	11000	5500
PPRZENVSCIDP	Environmental Science by Distance PhD PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ENVSC	618	3 4712	2 2356	2356	1178	3 22000	11000	11000	5500
PFRZENVSCIHL	Environmental Science MPhil	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ENVSC	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PPRZENVSCIHL	Environmental Science MPhil PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ENVSC	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PFRZENVSCIHP	Environmental Science PhD	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ENVSC	618	3 4712	2 2356	2356	1178	22000	11000	11000	5500

	Postgraduate Research 202	3/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRZENVSCIHH	Environmental Science PhD (init reg)	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ENVSC	618	3 4712	2 2356			3 22000	11000		
PPRZENVSCIHH	Environmental Science PhD (init reg) PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ENVSC	618	3 4712	2 2356	5 2356	5 1178	3 22000	11000	11000	5500
PPRZENVSCIHP	Environmental Science PhD PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ENVSC	618	3 4712	2 2356	5 2356	5 1178	3 22000	11000	11000	5500
PPRFTTH	Film Theatre and Television PhD (init reg) PT	Film, Theatre and TV; School of Arts and Comm Design	PGR-FTT	618	3 4712	2 2356	2356	5 1178	19500	9750	9750	4875
PFRZACDFTTDL	Film Theatre and Television by Distance MPhil FT	Film, Theatre and TV; School of Arts and Comm Design	PGR-FTT	618	3 4712	2 2356	2356	5 1178	19500	9750	9750	4875
PPRZACDFTTDL	Film Theatre and Television by Distance MPhil PT	Film, Theatre and TV; School of Arts and Comm Design	PGR-FTT	618	4712	2 2356	2356	5 1178	19500	9750	9750	4875
PFRZACDFTTDH	Film Theatre and Television by Distance PhD (initial registration) FT	Film, Theatre and TV; School of Arts and Comm Design	PGR-FTT	618	3 4712	2 2356	2356	5 1178	3 19500	9750	9750	4875
PPRZACDFTTDH	Film Theatre and Television by Distance PhD (initial registration) PT	Film, Theatre and TV; School of Arts and Comm Design	PGR-FTT	618	3 4712	2 2356	2356	5 1178	19500	9750	9750	4875
PFRZACDFTTDP	Film Theatre and Television by Distance PhD FT	Film, Theatre and TV; School of Arts and Comm Design	PGR-FTT	618	3 4712	2 2356	2356	5 1178	19500	9750	9750	4875
PPRZACDFTTDP	Film Theatre and Television by Distance PhD PT	Film, Theatre and TV; School of Arts and Comm Design	PGR-FTT	618	3 4712	2 2356	2356	5 1178	3 19500	9750	9750	4875
PFRFTTL	Film Theatre and Television MPhil	Film, Theatre and TV; School of Arts and Comm Design	PGR-FTT	618	3 4712	2 2356	2356	5 1178	3 19500	9750	9750	4875
PPRFTTL	Film Theatre and Television MPhil PT	Film, Theatre and TV; School of Arts and Comm Design	PGR-FTT	618	3 4712	2 2356	2356	5 1178	19500	9750	9750	4875
PFRFTTP	Film Theatre and Television PhD	Film, Theatre and TV; School of Arts and Comm Design	PGR-FTT	618	3 4712	2 2356	2356	5 1178	3 19500	9750	9750	4875
PFRFTTH	Film Theatre and Television PhD (init reg)	Film, Theatre and TV; School of Arts and Comm Design	PGR-FTT	618	3 4712	2 2356	2356	5 1178	3 19500	9750	9750	4875
PPRFTTP	Film Theatre and Television PhD PT	Film, Theatre and TV; School of Arts and Comm Design	PGR-FTT	618	3 4712	2 2356	2356	5 1178	3 19500	9750	9750	4875
PFRZHBSICMHL	Finance - ICMA Centre MPhil FT	ICMA Centre; Henley	PGR-ICMA	618	3 4712	2 2356	5		19500	9750		
PPRZHBSICMHL	Finance - ICMA Centre MPhil PT	Business School ICMA Centre; Henley Business School	PGR-ICMA	618	3 4712	2 2356	5		19500	9750		
PFRZHBSICMHH	Finance - ICMA Centre PhD (init reg) FT	ICMA Centre; Henley Business School	PGR-ICMA	618	3 4712	2 2356	5		19500	9750		

	Postgraduate Research 2023	3/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRZHBSICMHH	Finance - ICMA Centre PhD (init reg) PT	ICMA Centre; Henley Business School	PGR-ICMA	618	471	2 2356			19500	9750		
PFRZHBSICMHP	Finance - ICMA Centre PhD FT	ICMA Centre; Henley Business School	PGR-ICMA	618	471	2 2356			19500	9750		
PPRZHBSICMHP	Finance - ICMA Centre PhD PT	ICMA Centre; Henley Business School	PGR-ICMA	618	471	2 2356			19500	9750		
PFRZACDARTDL	Fine Art by Distance MPhil FT	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZACDARTDL	Fine Art by Distance MPhil PT	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZACDARTDH	Fine Art by Distance PhD (initial registration) FT		PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZACDARTDH	Fine Art by Distance PhD (initial registraton) PT		PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZACDARTDP	Fine Art by Distance PhD FT	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZACDARTDP	Fine Art by Distance PhD PT	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRFAL	Fine Art MPhil	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRFAL	Fine Art MPhil PT	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRFAP	Fine Art PhD	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRFAH	Fine Art PhD (init reg)	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRFAH	Fine Art PhD (init reg) PT	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRFAP	Fine Art PhD PT	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZCFPFOODL	Food and Nutritional Sciences by Distance MPhil FT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZCFPFOODL	Food and Nutritional Sciences by Distance MPhil PT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZCFPFOODH	Food and Nutritional Sciences by Distance PhD (initial registration) FT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZCFPFOODH	Food and Nutritional Sciences by Distance PhD (initial registration) PT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZCFPFOODP	Food and Nutritional Sciences by Distance PhD FT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZCFPFOODP	Food and Nutritional Sciences by Distance PhD PT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRFNSL	Food and Nutritional Sciences MPhil	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	471	2 2356	2356	1178	22000	11000	11000	5500

	Postgraduate Research 202	3/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRFNSL	Food and Nutritional Sciences MPhil	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	4712	2 2356			22000	11000		
PFRFNSP	Food and Nutritional Sciences PhD	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRFNSH	Food and Nutritional Sciences PhD (init reg)	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRFNSH	Food and Nutritional Sciences PhD (init reg) PT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	4712	2 2356	5 2356	1178	3 22000	11000	11000	5500
PPRFNSP	Food and Nutritional Sciences PhD PT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	4712	2 2356	5 2356	1178	22000	11000	11000	5500
PFRZCFPNUTDL	Food, Nutrition and Health by Distance MPhil FT		PGR-FNS	618	4712	2 2356	5 2356	1178	22000	11000	11000	5500
PPRZCFPNUTDL	Food, Nutrition and Health by Distance MPhil PT		PGR-FNS	618	4712	2 2356	5 2356	1178	3 22000	11000	11000	5500
PFRZCFPNUTDH	Food, Nutrition and Health by Distance PhD (initial registration) FT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PPRZCFPNUTDH	Food, Nutrition and Health by Distance PhD (initial registration) PT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	4712	2 2356	5 2356	1178	3 22000	11000	11000	5500
PFRZCFPNUTDP	Food, Nutrition and Health by Distance PhD FT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	4712	2 2356	5 2356	1178	22000	11000	11000	5500
PPRZCFPNUTDP	Food, Nutrition and Health by Distance PhD PT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	4712	2 2356	5 2356	1178	22000	11000	11000	5500
PFRZCFPNUTHL	Food, Nutrition and Health MPhil FT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PPRZCFPNUTHL	Food, Nutrition and Health MPhil PT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	4712	2 2356	5 2356	1178	22000	11000	11000	5500
PFRZCFPNUTHH	Food, Nutrition and Health PhD (init reg) FT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500

	Postgraduate Research 20	023/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRZCFPNUTHH	Food, Nutrition and Health PhD (init reg) PT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	471	2 2356			3 22000	11000		
PFRZCFPNUTHP	Food, Nutrition and Health PhD FT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	471	2 2356	2356	5 1178	22000	11000	11000	5500
PPRZCFPNUTHP	Food, Nutrition and Health PhD PT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	471	2 2356	2356	5 1178	22000	11000	11000	5500
PFRZMDLFREDL	French Studies by Distance MPhil FT	Languages and Cultures; School of Literature and Languages	PGR-FR	618	471	2 2356	2356	5 1178	19500	9750	9750	4875
PPRZMDLFREDL	French Studies by Distance MPhil PT	Languages and Cultures; School of Literature and Languages	PGR-FR	618	471	2 2356	2356	5 1178	19500	9750	9750	4875
PFRZMDLFREDH	French Studies by Distance PhD (initial registration) FT	Languages and Cultures; School of Literature and Languages	PGR-FR	618	471	2 2356	2356	5 1178	19500	9750	9750	4875
PPRZMDLFREDH	French Studies by Distance PhD (initial registration) PT	Languages and Cultures; School of Literature and Languages	PGR-FR	618	471	2 2356	2356	5 1178	19500	9750	9750	4875
PFRZMDLFREDP	French Studies by Distance PhD FT	Languages and Cultures; School of Literature and Languages	PGR-FR	618	471	2 2356	2356	5 1178	19500	9750	9750	4875
PPRZMDLFREDP	French Studies by Distance PhD PT	Languages and Cultures; School of Literature and Languages	PGR-FR	618	471	2 2356	2356	5 1178	19500	9750	9750	4875
PFRFRL	French Studies MPhil	Languages and Cultures; School of Literature and Languages	PGR-FR	618	471	2 2356	2356	5 1178	19500	9750	9750	4875
PPRFRL	French Studies MPhil PT	Languages and Cultures; School of Literature and Languages	PGR-FR	618	471	2 2356	2356	5 1178	19500	9750	9750	4875
PFRFRP	French Studies PhD	Languages and Cultures; School of Literature and Languages	PGR-FR	618	471	2 2356	2356	5 1178	19500	9750	9750	4875
PFRFRH	French Studies PhD (init reg)	Languages and Cultures; School of Literature and Languages	PGR-FR	618	471	2 2356	2356	5 1178	19500	9750	9750	4875
PPRFRH	French Studies PhD (init reg) PT	Languages and Cultures; School of Literature and Languages	PGR-FR	618	471	2 2356	2356	5 1178	19500	9750	9750	4875
PPRFRP	French Studies PhD PT	Languages and Cultures; School of Literature and Languages	PGR-FR	618	471	2 2356	2356	5 1178	19500	9750	9750	4875
PFRZHESGEODL	Geography by Distance MPhil FT	Geography and Environmental Science;School of Archaeology, Geography and Environmental Science	PGR-ES	618	471	2 2356	5 2356	5 1178	3 22000	11000	11000	5500
PPRZHESGEODL	Geography by Distance MPhil PT	Geography and Environmental Science;School of Archaeology, Geography and Environmental Science	PGR-ES	618	471	2 2356	5 2356	5 1178	3 22000	11000	11000	5500

	Postgraduate Resear	ch 2023/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRZHESGEODH	Geography by Distance PhD (initial registration) FT	Geography and Environmental Science;School of Archaeology, Geography and Environmental Science	PGR-ES	618	4712	2 2356			3 22000	11000		
PPRZHESGEODH	Geography by Distance PhD (initial registration) PT	Geography and Environmental Science;School of Archaeology, Geography and Environmental Science	PGR-ES	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PFRZHESGEODP	Geography by Distance PhD FT	Geography and Environmental Science;School of Archaeology, Geography and Environmental Science	PGR-ES	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PPRZHESGEODP	Geography by Distance PhD PT	Geography and Environmental Science;School of Archaeology, Geography and Environmental Science	PGR-ES	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PFRGGL	Geography MPhil	Geography and Environmental Science;School of Archaeology, Geography and Environmental Science	PGR-ES	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PPRGGL	Geography MPhil PT	Geography and Environmental Science;School of Archaeology, Geography and Environmental Science	PGR-ES	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PFRGGP	Geography PhD	Geography and Environmental Science;School of Archaeology, Geography and Environmental Science	PGR-ES	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PFRGGH	Geography PhD (init reg)	Geography and Environmental Science;School of Archaeology, Geography and Environmental Science	PGR-ES	618	4712	2 2356	5 2356	1178	3 22000	11000	11000	5500
PPRGGH	Geography PhD (init reg) PT	Geography and Environmental Science;School of Archaeology, Geography and Environmental Science	PGR-ES	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PPRGGP	Geography PhD PT	Geography and Environmental Science;School of Archaeology, Geography and Environmental Science	PGR-ES	618	4712	2 2356	5 2356	1178	3 22000	11000	11000	5500
PFRGML	German MPhil	Languages and Cultures; School of Literature and Languages	PGR-GM	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRGML	German MPhil PT	Languages and Cultures; School of Literature and Languages	PGR-GM	618	4712	2 2356	2356	1178	19500	9750	9750	4875

	Postgraduate Research	2023/24		Home Entrant	2023				Overseas 202	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRGMP	German PhD	Languages and Cultures; School of Literature and Languages	PGR-GM	618	471	2 2356			19500	9750		
PFRGMH	German PhD (init reg)	Languages and Cultures; School of Literature and	PGR-GM	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRGMH	German PhD (init reg) PT	Languages and Cultures; School of Literature and Languages	PGR-GM	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRGMP	German PhD PT	Languages and Cultures; School of Literature and Languages	PGR-GM	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZMDLGERDL	German Studies by Distance MPhil FT	Languages and Cultures; School of Literature and Languages	PGR-GM	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZMDLGERDL	German Studies by Distance MPhil PT	Languages and Cultures; School of Literature and Languages	PGR-GM	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZMDLGERDH	German Studies by Distance PhD (initial registration) FT	Languages and Cultures; School of Literature and Languages	PGR-GM	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZMDLGERDH	German Studies by Distance PhD (initial registration) PT	Languages and Cultures; School of Literature and Languages	PGR-GM	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZMDLGERDP	German Studies by Distance PhD FT	Languages and Cultures; School of Literature and Languages	PGR-GM	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZMDLGERDP	German Studies by Distance PhD PT	Languages and Cultures; School of Literature and Languages	PGR-GM	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZCFPGUTDL	Gut Immunity by Distance MPhil FT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZCFPGUTDL	Gut Immunity by Distance MPhil PT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZCFPGUTDH	Gut Immunity by Distance PhD (initial registration) FT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZCFPGUTDH	Gut Immunity by Distance PhD (initial registration) PT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZCFPGUTDP	Gut Immunity by Distance PhD FT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	471.	2 2356	2356	1178	22000	11000	11000	5500
PPRZCFPGUTDP	Gut Immunity by Distance PhD PT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZCFPGUTHL	Gut Immunity MPhil FT	Fnarmacv Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	471:	2 2356	2356	1178	22000	11000	11000	5500

	Postgraduate Research 2023	3/24		Home Entrant	2023				Overseas 202			
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRZCFPGUTHL	Gut Immunity MPhil PT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	4712	2 2356			22000	11000		
PFRZCFPGUTHH	Gut Immunity PhD (init reg) FT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZCFPGUTHH	Gut Immunity PhD (init reg) PT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZCFPGUTHP	Gut Immunity PhD FT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZCFPGUTHP	Gut Immunity PhD PT	Food and Nutritional Sciences; School of Chemistry, Food and Pharmacy	PGR-FNS	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZHUMHISDL	History by Distance MPhil FT	History; School of Humanities	PGR-HS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZHUMHISDL	History by Distance MPhil PT	History; School of Humanities	PGR-HS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZHUMHISDH	History by Distance PhD (initial registration) FT	History; School of Humanities	PGR-HS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZHUMHISDH	History by Distance PhD (initial registration) PT	History; School of Humanities	PGR-HS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZHUMHISDP	History by Distance PhD FT	History; School of Humanities	PGR-HS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZHUMHISDP	History by Distance PhD PT	History; School of Humanities	PGR-HS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRHSL	History MPhil	History; School of Humanities	PGR-HS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRHSL	History MPhil PT	History; School of Humanities	PGR-HS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRHSP	History PhD	History; School of Humanities	PGR-HS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRHSH	History PhD (init reg)	History; School of Humanities	PGR-HS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRHSH	History PhD (init reg) PT	History; School of Humanities	PGR-HS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRHSP	History PhD PT	History; School of Humanities	PGR-HS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZHUMGEODL	Human Geography by Distance MPhil FT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-GG	618								
PPRZHUMGEODL	Human Geography by Distance MPhil PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-GG	618	4712	2 2356	2356	1178	19500	9750	9750	4875

	Postgraduate Research 202	3/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRZHUMGEODH	Human Geography by Distance PhD (initial registration) FT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-GG	618	4712	2 2356			3 19500	9750		
PPRZHUMGEODH	Human Geography by Distance PhD (initial registration) PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-GG	618	4712	2 2356	2356	1178	3 19500	9750	9750	4875
PFRZHUMGEODP	Human Geography by Distance PhD FT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-GG	618	4712	2356	5 2356	1178	3 19500	9750	9750	4875
PPRZHUMGEODP	Human Geography by Distance PhD PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-GG	618	4712	2356	5 2356	1178	3 19500	9750	9750	4875
PFRZHUMGEOHL	Human Geography MPhil	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-GG	618	4712	2 2356	5 2356	1178	19500	9750	9750	4875
PPRZHUMGEOHL	Human Geography MPhil PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-GG	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZHUMGEOHP	Human Geography PhD	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-GG	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZHUMGEOHH	Human Geography PhD (initial registration)	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-GG	618	4712	2 2356	5 2356	1178	3 19500	9750	9750	4875
PPRZHUMGEOHH	Human Geography PhD (initial registration) PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-GG	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZHUMGEOHP	Human Geography PhD PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-GG	618	4712	2 2356	5 2356	1178	3 19500	9750	9750	4875
PFRZHBSISSDL	Informatics and System Science by Distance MPhil FT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4717	2 2356	2356	1178	19500	9750	9750	4875
PPRZHBSISSDL	Informatics and System Science by Distance MPhil PT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4712	2 2356	2356	1178	19500	9750	9750	4875

	Postgraduate Research 202	23/24		Home Entrant	2023				Overseas 202	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRZHBSISSDH	Informatics and System Science by Distance PhD (initial registration) FT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4712	2 2356			19500	9750		
PPRZHBSISSDH	Informatics and System Science by Distance PhD (initial registration) PT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZHBSISSDP	Informatics and System Science by Distance PhD FT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZHBSISSDP	Informatics and System Science by Distance PhD PT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZHBSISSHL	Informatics and System Science MPhil FT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZHBSISSHL	Informatics and System Science MPhil PT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZHBSISSHH	Informatics and System Science PhD (init reg) FT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZHBSISSHH	Informatics and System Science PhD (init reg) PT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZHBSISSHP	Informatics and System Science PhD FT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZHBSISSHP	Informatics and System Science PhD PT	Business Informatics, Systems and Accounting; Henley Business School	PGR-BIS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZAPDIRDHL	International and Rural Dev MPhil FT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZAPDIRDHL	International and Rural Dev MPhil PT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZAPDIRDHH	International and Rural Dev PhD (init reg) FT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZAPDIRDHH	International and Rural Dev PhD (init reg) PT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZAPDIRDHP	International and Rural Dev PhD FT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZAPDIRDHP	International and Rural Dev PhD PT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZAPDIRDDL	International and Rural Development by Distance MPhil FT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZAPDIRDDL	International and Rural Development by Distance MPhil PT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZAPDIRDDH	International and Rural Development by Distance PhD (initial registration) FT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZAPDIRDDH	International and Rural Development by Distance PhD (initial registration) PT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZAPDIRDDP	International and Rural Development by Distance PhD FT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZAPDIRDDP	International and Rural Development by Distance PhD PT	School of Agriculture, Policy and Development	PGR-AE	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZMDLITADL	Italian Studies by Distance MPhil FT	Languages and Cultures; School of Literature and Languages	PGR-IT	618	4712	2 2356	2356	1178	19500	9750	9750	487

	Postgraduate Research 202	3/24		Home Entrant	2023				Overseas 202			
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRZMDLITADL	Italian Studies by Distance MPhil PT	Languages and Cultures; School of Literature and Languages	PGR-IT	618	4712	2 2356			19500	9750		
PFRZMDLITADH	Italian Studies by Distance PhD (initial registration) FT	Languages and Cultures; School of Literature and Languages	PGR-IT	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZMDLITADH	Italian Studies by Distance PhD (initial registration) PT	Languages and Cultures; School of Literature and Languages	PGR-IT	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZMDLITADP	Italian Studies by Distance PhD FT	Languages and Cultures; School of Literature and Languages	PGR-IT	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZMDLITADP	Italian Studies by Distance PhD PT	Languages and Cultures; School of Literature and Languages	PGR-IT	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRITL	Italian Studies MPhil	Languages and Cultures; School of Literature and Languages	PGR-IT	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRITL	Italian Studies MPhil PT	Languages and Cultures; School of Literature and Languages	PGR-IT	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRITP	Italian Studies PhD	Languages and Cultures; School of Literature and Languages	PGR-IT	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRITH	Italian Studies PhD (init reg)	Languages and Cultures; School of Literature and Languages	PGR-IT	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRITH	Italian Studies PhD (init reg) PT	Languages and Cultures; School of Literature and Languages	PGR-IT	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRITP	Italian Studies PhD PT	Languages and Cultures; School of Literature and Languages	PGR-IT	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZLLEMDLDL	Latin American Studies by Distance MPhil FT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZLLEMDLDL	Latin American Studies by Distance MPhil PT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZLLEMDLDH	Latin American Studies by Distance PhD (initial registration) FT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZLLEMDLDH	Latin American Studies by Distance PhD (initial registration) PT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZLLEMDLDP	Latin American Studies by Distance PhD FT	Languages and Cultures; School of Literature and	PGR-MDL	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZLLEMDLDP	Latin American Studies by Distance PhD PT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZLLEMDLHL	Latin American Studies MPhil	Languages and Cultures; School of Literature and	PGR-MDL	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZLLEMDLHL	Latin American Studies MPhil PT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	4712	2 2356	2356	1178	19500	9750	9750	487

	Postgraduate Research 20	23/24		Home Entrant					Overseas 2023			
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRZLLEMDLHP	Latin American Studies PhD	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	4712	2 2356			19500	9750		
PPRZLLEMDLHH	Latin American Studies PhD (init reg) PT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZLLEMDLHH	Latin American Studies PhD (initial reg)	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZLLEMDLHP	Latin American Studies PhD PT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZLAWXXXDL	Law by Distance MPhil FT	School of Law	PGR-LW	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZLAWXXXDL	Law by Distance MPhil PT	School of Law	PGR-LW	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZLAWXXXDH	Law by Distance PhD (initial registration) FT	School of Law	PGR-LW	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZLAWXXXDH	Law by Distance PhD (initial registration) PT	School of Law	PGR-LW	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZLAWXXXDP	Law by Distance PhD FT	School of Law	PGR-LW	618			2356	1178	19500	9750	9750	
PPRZLAWXXXDP	Law by Distance PhD PT	School of Law	PGR-LW	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRLLM	Law LLM(Th)	School of Law	PGR-LW	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZLLMTHEDM	Law LLM(Th) by Distance FT	School of Law	PGR-LW	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZLLMTHEDM	Law LLM(Th) by Distance PT	School of Law	PGR-LW	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRLLM	Law LLM(Th) PT	School of Law	PGR-LW	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRLWL	Law MPhil	School of Law	PGR-LW	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRLWL	Law MPhil PT	School of Law	PGR-LW	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRLWP	Law PhD	School of Law	PGR-LW	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRLWH	Law PhD (init reg)	School of Law	PGR-LW	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRLWH	Law PhD (init reg) PT	School of Law	PGR-LW	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRLWP	Law PhD PT	School of Law	PGR-LW	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZLIVIRDDL	Livelihoods (International and Rural Development) by Distance MPhil PT	Agriculture; School of Agr, Policy and Dev	PGR-LIV	618						9750		
PPRZLIVIRDDP	Livelihoods (International and Rural Development) by Distance PhD PT	Agriculture; School of Agr, Policy and Dev	PGR-LIV	618						9750		
PFRZMANIBSHL	Management - IBS MPhil FT	International Business and Strategy; Henley Business School	PGR-IBS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZMANIBSHL	Management - IBS MPhil PT	International Business and Strategy; Henley Business School	PGR-IBS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZMANIBSHH	Management - IBS PhD (init reg) FT	International Business and Strategy; Henley Business School	PGR-IBS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZMANIBSHH	Management - IBS PhD (init reg) PT	International Business and Strategy; Henley Business School	PGR-IBS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZMANIBSHP	Management - IBS PhD FT	International Business and Strategy; Henley Business School	PGR-IBS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZMANIBSHP	Management - IBS PhD PT	International Business and Strategy; Henley Business School	PGR-IBS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZMANIBSDL	Management - International Business and Strategy by Distance MPhil FT	International Business and Strategy; Henley Business School	PGR-IBS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZMANIBSDL	Management - International Business and Strategy by Distance MPhil PT	International Business and Strategy; Henley Business School	PGR-IBS	618	4712	2 2356	2356	1178	19500	9750	9750	487

	Postgraduate Research 202	3/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRZMANIBSDH	Management - International Business and Strategy by Distance PhD (initial registration) FT	International Business and Strategy; Henley Business School	PGR-IBS	618	4717	2 2356			19500	9750		
PPRZMANIBSDH	Management - International Business and Strategy by Distance PhD (initial registration) PT	International Business and Strategy; Henley Business School	PGR-IBS	618	4717	2 2356	2356	1178	19500	9750	9750	487
PFRZMANIBSDP	Management - International Business and Strategy by Distance PhD FT	International Business and Strategy; Henley Business School	PGR-IBS	618	4717	2 2356	2356	1178	19500	9750	9750	487
PPRZMANIBSDP	Management - International Business and Strategy by Distance PhD PT	International Business and Strategy; Henley Business School	PGR-IBS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZMIGLOBDL	Management - Leadership, Organisations and Behaviour by Distance (MGIMO) MPhil FT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZMIGLOBDL	Management - Leadership, Organisations and Behaviour by Distance (MGIMO) MPhil PT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4717	2 2356	2356	1178	19500	9750	9750	487
PFRZMIGLOBDH	Management - Leadership, Organisations and Behaviour by Distance (MGIMO) PhD (initial registration) FT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZMIGLOBDH	Management - Leadership, Organisations and Behaviour by Distance (MGIMO) PhD (initial registration) PT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZMIGLOBDP	Management - Leadership, Organisations and Behaviour by Distance (MGIMO) PhD FT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4717	2 2356	2356	1178	19500	9750	9750	487
PPRZMIGLOBDP	Management - Leadership, Organisations and Behaviour by Distance (MGIMO) PhD PT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4717	2 2356	2356	1178	19500	9750	9750	487
PFRZMANLOBDL	Management - Leadership, Organisations and Behaviour by Distance MPhil FT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZMANLOBDL	Management - Leadership, Organisations and Behaviour by Distance MPhil PT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZMANLOBDH	Management - Leadership, Organisations and Behaviour by Distance PhD (initial registration)	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZMANLOBDH	Management - Leadership, Organisations and Behaviour by Distance PhD (initial registration)	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZMANLOBDP	Management - Leadership, Organisations and Behaviour by Distance PhD FT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZMANLOBDP	Management - Leadership, Organisations and Behaviour by Distance PhD PT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZMIGLOBHL	Management - LOB (MGIMO) MPhil FT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRZMIGLOBHL	Management - LOB (MGIMO) MPhil PT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	487
PFRZMIGLOBHH	Management - LOB (MGIMO) PhD (init reg) FT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	487

	Postgraduate Research 202	23/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRZMIGLOBHH	Management - LOB (MGIMO) PhD (init reg) PT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356			19500	9750		
PFRZMIGLOBHP	Management - LOB (MGIMO) PhD FT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	3 4712	2 2356	2356	5 1178	19500	9750	9750	4875
PPRZMIGLOBHP	Management - LOB (MGIMO) PhD PT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZMANLOBHL	Management - LOB MPhil FT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZMANLOBHL	Management - LOB MPhil PT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZMANLOBHH	Management - LOB PhD (init reg) FT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZMANLOBHH	Management - LOB PhD (init reg) PT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZMANLOBHP	Management - LOB PhD FT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZMANLOBHP	Management - LOB PhD PT	Leadership, Organisations and Behaviour; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZMANMKRDL	Management - Marketing and Reputation by Distance MPhil FT	Marketing and Reputation; Henley Business School	PGR-MKR	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZMANMKRDL	Management - Marketing and Reputation by Distance MPhil PT	Marketing and Reputation; Henley Business School	PGR-MKR	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZMANMKRDH	Management - Marketing and Reputation by Distance PhD (initial registration) FT	Marketing and Reputation; Henley Business School	PGR-LOB	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZMANMKRDH	Management - Marketing and Reputation by Distance PhD (initial registration) PT	Marketing and Reputation; Henley Business School	PGR-MKR	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZMANMKRDP	Management - Marketing and Reputation by Distance PhD FT	Marketing and Reputation; Henley Business School	PGR-MKR	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZMANMKRDP	Management - Marketing and Reputation by Distance PhD PT	Marketing and Reputation; Henley Business School	PGR-MKR	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZMANMKRHL	Management - MKR MPhil FT	Marketing and Reputation; Henley Business School	PGR-MKR	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZMANMKRHL	Management - MKR MPhil PT	Marketing and Reputation; Henley Business School	PGR-MKR	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZMANMKRHH	Management - MKR PhD (init reg) FT	Marketing and Reputation; Henley Business School	PGR-MKR	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZMANMKRHH	Management - MKR PhD (init reg) PT	Marketing and Reputation; Henley Business School	PGR-MKR	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZMANMKRHP	Management - MKR PhD FT	Marketing and Reputation; Henley Business School	PGR-MKR	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZMANMKRHP	Management - MKR PhD PT	Marketing and Reputation; Henley Business School	PGR-MKR	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFTZMANMKRHS	Management (MKR) MSc by Research FT	Marketing and Reputation; Henley Business School	PFTZMANMK RHS									
PFRZMPSMATDL	Mathematics by Distance MPhil FT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	3 4712	2 2356	3 2356	5 1178	3 22000	11000	11000	5500

	Postgraduate Research 2	2023/24		Home Entrant	2023				Overseas 202	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRZMPSMATDL	Mathematics by Distance MPhil PT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	4712	2 2356			22000	11000		
PFRZMPSMATDH	Mathematics by Distance PhD (initial registration) FT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZMPSMATDH	Mathematics by Distance PhD (initial registration) PT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZMPSMATDP	Mathematics by Distance PhD FT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZMPSMATDP	Mathematics by Distance PhD PT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRMAL	Mathematics MPhil	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRMAL	Mathematics MPhil PT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRMAP	Mathematics PhD	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRMAH	Mathematics PhD (init reg)	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRMAH	Mathematics PhD (init reg) PT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRMAP	Mathematics PhD PT	Mathematics and Statistics; School of Mathematical, Physical and Computational Sciences	PGR-MA	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZHUMGCMDL	Medieval Studies by Distance MPhil FT	Grad Cen for Medieval Studs; School of Hums	PGR-MS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZHUMGCMDL	Medieval Studies by Distance MPhil PT	Grad Cen for Medieval Studs; School of Hums	PGR-MS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZHUMGCMDH	Medieval Studies by Distance PhD (initial registration) FT	Grad Cen for Medieval Studs; School of Hums	PGR-MS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZHUMGCMDH	Medieval Studies by Distance PhD (initial registration) PT	Grad Cen for Medieval Studs; School of Hums	PGR-MS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZHUMGCMDP		Grad Cen for Medieval Studs; School of Hums	PGR-MS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZHUMGCMDP	Medieval Studies by Distance PhD PT	Grad Cen for Medieval Studs; School of Hums	PGR-MS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRMSL	Medieval Studies MPhil	Grad Cen for Medieval Studs; School of Hums	PGR-MS	618	4712	2 2356	2356	1178	19500	9750	9750	4875

	Postgraduate Research 202	3/24		Home Entrant					Overseas 2023			
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRMSL	Medieval Studies MPhil PT	Grad Cen for Medieval Studs; School of Hums	PGR-MS	618	4712	2 2356			19500	9750		
PFRMSP	Medieval Studies PhD	Grad Cen for Medieval Studs; School of Hums	PGR-MS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRMSH	Medieval Studies PhD (init reg)	Grad Cen for Medieval Studs; School of Hums	PGR-MS	618	4712	2 2356	2356	1178	19500	9750	9750	487
PPRMSH	Medieval Studies PhD (init reg) PT	Grad Cen for Medieval Studs; School of Hums	PGR-MS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRMSP	Medieval Studies PhD PT	Grad Cen for Medieval Studs; School of Hums	PGR-MS	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZNEUROSDL	Neuroscience by Distance MPhil FT	School of Psychology and Clinical Language Sciences	PGR-PY	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZNEUROSDL	Neuroscience by Distance MPhil PT	School of Psychology and Clinical Language Sciences	PGR-PY	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZNEUROSDH	Neuroscience by Distance PhD (initial registration) FT	School of Psychology and Clinical Language Sciences	PGR-PY	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZNEUROSDH		School of Psychology and Clinical Language Sciences	PGR-PY	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZNEUROSDP	Neuroscience by Distance PhD FT	School of Psychology and Clinical Language Sciences	PGR-PY	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZNEUROSDP	Neuroscience by Distance PhD PT	School of Psychology and Clinical Language Sciences	PGR-PY	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZNEUROSHL	Neuroscience MPhil FT	School of Psychology and Clinical Language Sciences	PGR-PY	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZNEUROSHL	Neuroscience MPhil PT	School of Psychology and Clinical Language Sciences	PGR-PY	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZNEUROSHH	Neuroscience PhD (init reg) FT	School of Psychology and Clinical Language Sciences	PGR-PY	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZNEUROSHH	Neuroscience PhD (init reg) PT	School of Psychology and Clinical Language Sciences	PGR-PY	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZNEUROSHP	Neuroscience PhD FT	School of Psychology and Clinical Language Sciences	PGR-PY	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZNEUROSHP	Neuroscience PhD PT	School of Psychology and Clinical Language Sciences	PGR-PY	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHACHEDL	Pharmaceutical Chemistry by Distance MPhil FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHACHEDL	Pharmaceutical Chemistry by Distance MPhil PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHACHEDH	Pharmaceutical Chemistry by Distance PhD (initial registration) FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHACHEDH	Pharmaceutical Chemistry by Distance PhD (initial registration) PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHACHEDP	Pharmaceutical Chemistry by Distance PhD FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHACHEDP	Pharmaceutical Chemistry by Distance PhD PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHACHEHL	Pharmaceutical Chemistry MPhil FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHACHEHL	Pharmaceutical Chemistry MPhil PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500

	Postgraduate Research 202	3/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRZPHACHEHH	Pharmaceutical Chemistry PhD (init reg) FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4717	2 2356			22000	11000		
PPRZPHACHEHH	Pharmaceutical Chemistry PhD (init reg) PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4717	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHACHEHP	Pharmaceutical Chemistry PhD FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHACHEHP	Pharmaceutical Chemistry PhD PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHARMADL	Pharmaceutics by Distance MPhil FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4717	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHARMADL	Pharmaceutics by Distance MPhil PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4717	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHARMADH	Pharmaceutics by Distance PhD (initial registration) FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4717	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHARMADH	Pharmaceutics by Distance PhD (initial registration) PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHARMADP	Pharmaceutics by Distance PhD FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHARMADP	Pharmaceutics by Distance PhD PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHARMAHL	Pharmaceutics MPhil FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHARMAHL	Pharmaceutics MPhil PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHARMAHH	Pharmaceutics PhD (init reg) FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHARMAHH	Pharmaceutics PhD (init reg) PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHARMAHP	Pharmaceutics PhD FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHARMAHP	Pharmaceutics PhD PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZCFPPHADL	Pharmacy by Distance MPhil FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZCFPPHADL	Pharmacy by Distance MPhil PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZCFPPHADH	Pharmacy by Distance PhD (initial registration) FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500

	Postgraduate Research 202	3/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRZCFPPHADH	Pharmacy by Distance PhD (initial registration) PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356			22000	11000		
PFRZCFPPHADP	Pharmacy by Distance PhD FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZCFPPHADP	Pharmacy by Distance PhD PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRPHARML	Pharmacy MPhil	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRPHARML	Pharmacy MPhil PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRPHARMP	Pharmacy PhD	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRPHARMH	Pharmacy PhD (init reg)	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRPHARMH	Pharmacy PhD (init reg) PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRPHARMP	Pharmacy PhD PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHAPRADL	Pharmacy Practice by Distance MPhil FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHAPRADL	Pharmacy Practice by Distance MPhil PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHAPRADH	Pharmacy Practice by Distance PhD (initial registration) FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHAPRADH	Pharmacy Practice by Distance PhD (initial registration) PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHAPRADP	Pharmacy Practice by Distance PhD FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHAPRADP	Pharmacy Practice by Distance PhD PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHAPRAHL	Pharmacy Practice MPhil FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHAPRAHL	Pharmacy Practice MPhil PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHAPRAHH	Pharmacy Practice PhD (init reg) FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHAPRAHH	Pharmacy Practice PhD (init reg) PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500

	Postgraduate Research 202	3/24		Home Entrant	2023				Overseas 202	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRZPHAPRAHP	Pharmacy Practice PhD FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356			22000	11000		
PPRZPHAPRAHP	Pharmacy Practice PhD PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRELENGP	PhD in Electronic Engineering PT	Department of Bio- Engineering; School of Biological Sciences	PGR-CYB	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZHUMPHIDL	Philosophy by Distance MPhil FT	Philosophy; School of Humanities	PGR-PP	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZHUMPHIDL	Philosophy by Distance MPhil PT	Philosophy; School of Humanities	PGR-PP	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZHUMPHIDH	Philosophy by Distance PhD (initial registration) FT	Philosophy; School of Humanities	PGR-PP	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZHUMPHIDH		Philosophy; School of Humanities	PGR-PP	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZHUMPHIDP	Philosophy by Distance PhD FT	Philosophy; School of Humanities	PGR-PP	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRZHUMPHIDP	Philosophy by Distance PhD PT	Philosophy; School of Humanities	PGR-PP	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRPPL	Philosophy MPhil	Philosophy; School of Humanities	PGR-PP	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRPPL	Philosophy MPhil PT	Philosophy; School of Humanities	PGR-PP	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRPPP	Philosophy PhD	Philosophy; School of Humanities	PGR-PP	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRPPH	Philosophy PhD (init reg)	Philosophy; School of Humanities	PGR-PP	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRPPH	Philosophy PhD (init reg) PT	Philosophy; School of Humanities	PGR-PP	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PPRPPP	Philosophy PhD PT	Philosophy; School of Humanities	PGR-PP	618	4712	2 2356	2356	1178	19500	9750	9750	4875
PFRZPHYPHADL	Physiology and Pharmacology by Distance MPhil FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHYPHADL	Physiology and Pharmacology by Distance MPhil PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHYPHADH	Physiology and Pharmacology by Distance PhD (initial registration)FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHYPHADH	Physiology and Pharmacology by Distance PhD (initial registration)PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHYPHADP	Physiology and Pharmacology by Distance PhD FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHYPHADP	Physiology and Pharmacology by Distance PhD PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHYPHAHL	Physiology and Pharmacology MPhil FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHYPHAHL	Physiology and Pharmacology MPhil PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	4712	2 2356	2356	1178	22000	11000	11000	5500

	Postgraduate Research 202	3/24		Home Entrant	2023				Overseas 202	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRZPHYPHAHH	Physiology and Pharmacology PhD (init reg) FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356			3 22000	11000		
PPRZPHYPHAHH	Physiology and Pharmacology PhD (init reg) PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZPHYPHAHP	Physiology and Pharmacology PhD FT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZPHYPHAHP	Physiology and Pharmacology PhD PT	Pharmacy; School of Chemistry, Food and Pharmacy	PGR-PHARM	618	471	2 2356	2356	5 1178	3 22000	11000	11000	5500
PFRZPEIPOLDL	Politics by Distance MPhil FT	Graduate Institute for Politics and International Studies	PGR-PO	618	471	2 2356	2356	5 1178	19500	9750	9750	4875
PPRZPEIPOLDL	Politics by Distance MPhil PT	Graduate Institute for Politics and International Studies	PGR-PO	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZPEIPOLDH	Politics by Distance PhD (initial registration) FT	Graduate Institute for Politics and International Studies	PGR-PO	618	471	2 2356	2356	5 1178	19500	9750	9750	4875
PPRZPEIPOLDH	Politics by Distance PhD (initial registration) PT		PGR-PO	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZPEIPOLDP	Politics by Distance PhD FT	Graduate Institute for Politics and International Studies	PGR-PO	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZPEIPOLDP	Politics by Distance PhD PT	Graduate Institute for Politics and International Studies	PGR-PO	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRPOL	Politics MPhil	Graduate Institute for Politics and International Studies	PGR-PO	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRPOL	Politics MPhil PT	Graduate Institute for Politics and International Studies	PGR-PO	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRPOP	Politics PhD	Graduate Institute for Politics and International Studies	PGR-PO	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRPOH	Politics PhD (init reg)	Graduate Institute for Politics and International Studies	PGR-PO	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRPOH	Politics PhD (init reg) PT	Graduate Institute for Politics and International Studies	PGR-PO	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRPOP	Politics PhD PT	Graduate Institute for Politics and International Studies	PGR-PO	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZACDPICDL	Practice in Curating by Distance MPhil FT	Art; School of Arts and Communication Design	PGR-FA	618								
PPRZACDPICDL	Practice in Curating by Distance MPhil PT	Art; School of Arts and Communication Design	PGR-FA	618								
PFRZACDPICDH	Practice in Curating by Distance PhD (initial registration) FT	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	
PPRZACDPICDH	Practice in Curating by Distance PhD (initial registration) PT	Art; School of Arts and Communication Design	PGR-FA	618								
PFRZACDPICDP	Practice in Curating by Distance PhD FT	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875

	Postgraduate Research 20.	23/24		Home Entrant	2023				Overseas 2023	3		
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRZACDPICDP	Practice in Curating by Distance PhD PT	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356			19500	9750		
PFRZACDPICHL	Practice in Curating MPhil FT	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZACDPICHL	Practice in Curating MPhil PT	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZACDPICHH	Practice in Curating PhD (init reg) FT	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZACDPICHH	Practice in Curating PhD (init reg) PT	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZACDPICHP	Practice in Curating PhD FT	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZACDPICHP	Practice in Curating PhD PT	Art; School of Arts and Communication Design	PGR-FA	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZPSYLINDL	Psycholinguistics by Distance MPhil FT	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZPSYLINDL	Psycholinguistics by Distance MPhil PT	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZPSYLINDH	Psycholinguistics by Distance PhD (initial registration) FT	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZPSYLINDH	Psycholinguistics by Distance PhD (initial registration) PT	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZPSYLINDP	Psycholinguistics by Distance PhD FT	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZPSYLINDP	Psycholinguistics by Distance PhD PT	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZPSYLINHL	Psycholinguistics MPhil FT	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZPSYLINHL	Psycholinguistics MPhil PT	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZPSYLINHH	Psycholinguistics PhD (initial registration) FT	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZPSYLINHH	Psycholinguistics PhD (initial registration) PT	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZPSYLINHP	Psycholinguistics PhD FT	Clinical Language Sciences; Sch of Psych and CLS	PGR-CLINLS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZPSYLINHP	Psycholinguistics PhD PT	Clinical Language Sciences; Sch of Psvch and CLS	PGR-CLINLS	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZPCLPSYDL	Psychology by Distance MPhil FT	Psychology; School of Psych and Clin Lang Sci	PGR-PY	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZPCLPSYDL	Psychology by Distance MPhil PT	Psychology; School of Psych and Clin Lang Sci	PGR-PY	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZPCLPSYDH	Psychology by Distance PhD (initial registration) FT	Psychology; School of Psych and Clin Lang Sci	PGR-PY	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZPCLPSYDH	Psychology by Distance PhD (initial registration) PT	Psychology; School of Psych and Clin Lang Sci	PGR-PY	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZPCLPSYDP	Psychology by Distance PhD FT	Psychology; School of Psych and Clin Lang Sci	PGR-PY	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRZPCLPSYDP	Psychology by Distance PhD PT	Psychology; School of Psych and Clin Lang Sci	PGR-PY	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRPYL	Psychology MPhil	Psychology; School of Psych and Clin Lang Sci	PGR-PY	618	471	2 2356	2356	1178	22000	11000	11000	5500
PPRPYL	Psychology MPhil PT	Psychology; School of Psych and Clin Lang Sci	PGR-PY	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRPYP	Psychology PhD	Psychology; School of Psych and Clin Lang Sci	PGR-PY	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRPYH	Psychology PhD (init reg)	Psychology; School of Psych and Clin Lang Sci	PGR-PY	618	471	2 2356	2356	1178	22000	11000	11000	5500

Postgraduate Research 2023/24					Home Entrant 2023				Overseas 2023			
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRPYH	Psychology PhD (init reg) PT	Psychology; School of Psych and Clin Lang Sci	PGR-PY	618	471	2 2356			22000	11000		
PPRPYP	Psychology PhD PT	Psychology; School of Psych and Clin Lang Sci	PGR-PY	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZHBSREPDL	Real Estate and Planning by Distance MPhil FT	Real Estate and Planning; Henley Business School	PGR-REP	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZHBSREPDL	Real Estate and Planning by Distance MPhil PT	Real Estate and Planning; Henley Business School	PGR-REP	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZHBSREPDH	Real Estate and Planning by Distance PhD (initial registration) FT	Real Estate and Planning; Henley Business School	PGR-REP	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZHBSREPDH	Real Estate and Planning by Distance PhD (initial registration) PT	Real Estate and Planning; Henley Business School	PGR-REP	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZHBSREPDP	Real Estate and Planning by Distance PhD FT	Real Estate and Planning; Henley Business School	PGR-REP	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRZHBSREPDP	Real Estate and Planning by Distance PhD PT	Real Estate and Planning; Henley Business School	PGR-REP	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRREPL	Real Estate and Planning MPhil FT	Real Estate and Planning; Henley Business School	PGR-REP	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRREPL	Real Estate and Planning MPhil PT	Real Estate and Planning; Henley Business School	PGR-REP	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRREPH	Real Estate and Planning PhD (init reg) FT	Real Estate and Planning; Henley Business School	PGR-REP	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRREPH	Real Estate and Planning PhD (init reg) PT	Real Estate and Planning; Henley Business School	PGR-REP	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRREPP	Real Estate and Planning PhD FT	Real Estate and Planning; Henley Business School	PGR-REP	618	471	2 2356	2356	1178	19500	9750	9750	4875
PPRREPP	Real Estate and Planning PhD PT	Real Estate and Planning; Henley Business School	PGR-REP	618	471	2 2356	2356	1178	19500	9750	9750	4875
PFRZHESSOIDL	Soil Science by Distance MPhil FT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ES	618	471	2 2356	2356	5 1178	3 22000	11000	11000	5500
PPRZHESSOIDL	Soil Science by Distance MPhil PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ES	618	471	2 2356	3 2356	5 1178	22000	11000	11000	5500
PFRZHESSOIDH	Soil Science by Distance PhD (initial registration) FT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ES	618	471	2 2356	2356	1178	3 22000	11000	11000	5500
PPRZHESSOIDH	Soil Science by Distance PhD (initial registration) PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ES	618	471	2 2356	2356	1178	3 22000	11000	11000	5500
PFRZHESSOIDP	Soil Science by Distance PhD FT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ES	618	471	2 2356	2356	5 1178	3 22000	11000	11000	5500
PPRZHESSOIDP	Soil Science by Distance PhD PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-ES	618	471	2 2356	2356	1178	3 22000	11000	11000	5500

	Postgraduate Research 2023/24				2023				Overseas 2023			
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PFRSSL	Soil Science MPhil	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-SS	618	4712	2 2356			3 22000	11000		
PPRSSL	Soil Science MPhil PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-SS	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PFRSSP	Soil Science PhD	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-SS	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PFRSSH	Soil Science PhD (init reg)	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-SS	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PPRSSH	Soil Science PhD (init reg) PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-SS	618	4712	2 2356	2356	1178	3 22000	11000	11000	5500
PPRSSP	Soil Science PhD PT	Geography and Environmental Science; School of Archaeology, Geography and Environmental Science	PGR-SS	618	4712	2 2356	5 2356	1178	3 22000	11000	11000	5500
PPRZSPACEWHL	Space Weather and Solar-T Physics MPhil PT	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZSPACEWHH	Space Weather and Solar-T Physics PhD (init reg)	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZSPACEWHH	Space Weather and SolarT Physics PhD (init reg) PT	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZSPACEWHP	Space Weather and Solar-T Physics PhD PT	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZSPACEWDL	Space Weather and Solar-Terrestrial Physics by Distance MPhil FT	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZSPACEWDL	Space Weather and Solar-Terrestrial Physics by Distance MPhil PT		PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZSPACEWDH	Space Weather and Solar-Terrestrial Physics by Distance PhD (initial registration) FT	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PPRZSPACEWDH	Space Weather and Solar-Terrestrial Physics by Distance PhD (initial registration) PT		PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500
PFRZSPACEWDP	Space Weather and Solar-Terrestrial Physics by Distance PhD FT	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	4712	2 2356	2356	1178	22000	11000	11000	5500

Postgraduate Research 2023/24				Home Entrant	2023				Overseas 2023			
Course code	Name	Department	Fee profile	Continuation fee	Full-time	Part-time	Working away (full- time)	Working away (part- time)	Full-time	Part-time	Working away (full- time)	Working away (part- time)
PPRZSPACEWDP	Space Weather and Solar-Terrestrial Physics by Distance PhD PT	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	471	2 2356			22000	11000		
PFRZSPACEWHL	Space Weather and Solar-Terrestrial Physics MPhil	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	471	2 2356	2356	1178	22000	11000	11000	5500
PFRZSPACEWHP	Space Weather and Solar-Terrestrial Physics PhD	Meteorology; School of Mathematical, Physical and Computational Sciences	PGR-AOC	618	471	2 2356	2356	1178	22000	11000	11000	550
PFRZMDLSPADL	Spanish Studies by Distance MPhil FT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	471	2 2356	2356	1178	19500	9750	9750	487
PPRZMDLSPADL	Spanish Studies by Distance MPhil PT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	471	2 2356	2356	1178	19500	9750	9750	487
PFRZMDLSPADH	Spanish Studies by Distance PhD (initial registration) FT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	471	2 2356	2356	1178	19500	9750	9750	487
PPRZMDLSPADH	Spanish Studies by Distance PhD (initial registration) PT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	471	2 2356	2356	1178	19500	9750	9750	487
PFRZMDLSPADP	Spanish Studies by Distance PhD FT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	471	2 2356	2356	1178	19500	9750	9750	487
PPRZMDLSPADP	Spanish Studies by Distance PhD PT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	471	2 2356	2356	1178	19500	9750	9750	487
PFRZMDLSPAHL	Spanish Studies MPhil FT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	471	2 2356	2356	1178	19500	9750	9750	487
PPRZMDLSPAHL	Spanish Studies MPhil PT	Languages and Cultures; School of Literature and	PGR-MDL	618	471	2 2356	2356	1178	19500	9750	9750	487
PFRZMDLSPAHH	Spanish Studies PhD (initial registration) FT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	471	2 2356	2356	1178	19500	9750	9750	487
PPRZMDLSPAHH	Spanish Studies PhD (initial registration) PT	Languages and Cultures; School of Literature and	PGR-MDL	618	471	2 2356	2356	1178	19500	9750	9750	487
PFRZMDLSPAHP	Spanish Studies PhD FT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	471	2 2356	2356	1178	19500	9750	9750	487
PPRZMDLSPAHP	Spanish Studies PhD PT	Languages and Cultures; School of Literature and Languages	PGR-MDL	618	471	2 2356	2356	1178	19500	9750	9750	487
PFRZLCLTRADH	Translation Studies by Distance PhD (initial registration) FT	Languages and Cultures; School of Literature and	PGR-LCL	618	471	2 2356	2356	1178	19500	9750	9750	487
PPRZLCLTRADH	Translation Studies by Distance PhD (initial registration) PT	Languages and Cultures; School of Literature and Languages	PGR-LCL	618	471	2 2356	2356	1178	19500	9750	9750	487
PFRZLCLTRAHH	Translation Studies PhD (init reg) FT	Languages and Cultures; School of Literature and Languages	PGR-LCL	618	471	2 2356	2356	1178	19500	9750	9750	487
PPRZLCLTRAHH	Translation Studies PhD (init reg) PT	Languages and Cultures; School of Literature and Languages	PGR-LCL	618	471	2 2356	2356	1178	19500	9750	9750	487

Postgraduate Research 2023/24					2023				Overseas 2023			
Course code	Name	Department	Fee profile	Continuation fee	Full-time			Working away (part- time)	Full-time		away (full-	Working away (part- time)
PFRZLCLTRAHP	Translation Studies PhD FT	Languages and Cultures; School of Literature and Languages	PGR-LCL	618	4712	2356	2356	1178	19500	9750	9750	4875
PPRTYH	Typography & Graphic Comm PhD (init reg) PT	Typography; School of Arts and Comm Design	PGR-TY	618	4712	2356	2356	1178	19500	9750	9750	4875
PFRZACDTYPDL	Typography & Graphic Communication by Distance MPhil FT	Typography; School of Arts and Comm Design	PGR-TY	618	4712	2356	2356	1178	19500	9750	9750	4875
PPRZACDTYPDL	Typography & Graphic Communication by Distance MPhil PT	Typography; School of Arts and Comm Design	PGR-TY	618	4712	2356	2356	1178	19500	9750	9750	4875
PFRZACDTYPDH	Typography & Graphic Communication by Distance PhD (initial registration) FT	Typography; School of Arts and Comm Design	PGR-TY	618	4712	2356	2356	1178	19500	9750	9750	
PPRZACDTYPDH	Typography & Graphic Communication by Distance PhD (initial registration) PT	Typography; School of Arts and Comm Design	PGR-TY	618	4712	2356	2356	1178	19500	9750	9750	4875
PFRZACDTYPDP	Typography & Graphic Communication by Distance PhD FT	Typography; School of Arts and Comm Design	PGR-TY	618	4712	2356	2356	1178	19500	9750	9750	4875
PPRZACDTYPDP	Typography & Graphic Communication by Distance PhD PT	Typography; School of Arts and Comm Design	PGR-TY	618	4712	2356	2356	1178	19500	9750	9750	4875
PFRTYL	Typography & Graphic Communication MPhil	Typography; School of Arts and Comm Design	PGR-TY	618	4712	2356	2356	1178	19500	9750	9750	4875
PPRTYL	Typography & Graphic Communication MPhil PT	Typography; School of Arts and Comm Design	PGR-TY	618	4712	2356	2356	1178	19500	9750	9750	4875
PFRTYP	Typography & Graphic Communication PhD	Typography; School of Arts and Comm Design	PGR-TY	618	4712	2356	2356	1178	19500	9750	9750	4875
PFRTYH	Typography & Graphic Communication PhD (init reg)	Typography; School of Arts and Comm Design	PGR-TY	618	4712	2356	2356	1178	19500	9750	9750	4875
PPRTYP	Typography & Graphic Communication PhD PT	Typography; School of Arts and Comm Design	PGR-TY	618	4712	2356	2356	1178	19500	9750	9750	4875